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16.800
16,800
14,500
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14,500

20,200
20,200 -
17.400
17,400 -
18,300 —
18,800
15,800
15,800 -
14,000 =
14,000
14,000
14,000 -
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L103 600 58% 62% 3/
L107 600 58% 62% 3/
L 600 58% 62% 3/
L 600 58% 62% 3/
L 600 58% 62% 3/
L 600 58% 62% _3/5-
L 600 58% 62% _3/5-
L 600 58% 62% _3/5-
L 600 58% 62% _3/5-
L 600 58% 62% _3/5-
L131 600 58% 62% 3/
L133 600 58% 62% 3/
L137 600 58% 62% 3/
L139 600 58% 62% 3/
AR (FFH R L102 600 58% 62% 3/
L104 600 58% 62% 3/
L106 600 58% 62% 3/
L 600 58% 62% 3/
L 600 58% 62% 3/
L 600 58% 62% 3/
L 600 58% 62% 3/
L 600 58% 62% 3/5- T
L 600 58% 62% 3/5- E
L 600 58% 62% 3/5- E
L 600 58% 62% 3/
L 600 58% 62% 3/
L130 600 58% 62% 3/
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RR(HE) =Xk (B#E) | RECHE) R L225 ,900 53% 57%
KB (BHEE) 220 900 65% 68%
224 800 49% 54%
RRCHE) =HRGTFR) | RR(PE)R L501 ,400 51% 54%
[ JL503 000 49% 52%
[ JL505 300 49% 52%
L507 700 39% 43% 119,300
[ JL509 700 39% 43% 9,300
L511 400 40% 44% 9,300
L513 000 49% 52% 4,000, H:19,800
L515 400 51% 54%
L517 400 51% 54% 9,000, £:19,500. H:20,000
L519 400 51% 54% 9,000, £:19,500, H:20,000
[ JLs21 000 49% 52% :20,000. +:19,300
597 000 49% 52% 19,300
[ JL523 300 49% 52% 800, H:20500
[ JL525 400 46% 49% 1,200, %:25,300, +:18,800, H:20,500
527 500 43% 6% 18,800, H:20,900
[ JL529 500 43% 46% 18,800, H:20,900
531 800 47% 50% £:18,800, H:20,300
HREFTR) % 600 1400 43% 46%
[JL502 400 40% 44%
504 400 43% 46%
506 000 47% 50%
[ JL508 400 51% 54% 19,800
L 300 49% 52% 600, B:20,900
L 300 6% 49% 1900, B:22.400
JL 300 46% 49% 1900, H:25,600
JL 300 46% 49% 600, £:21.900, H:26,600
JL 600 45% 48% 800, H:26,600
[ JL520 600 45% 48% 800, H:26,600
JL522 600 45% 48% £:19,800, H:26,600
JL598 600 5% 48% 400, £:19,800, H:26,600
JL524 300 46% 49% 400, £:19,500, B:25,600
JL526 000 49% 52% £:19,500, H:24,000
JL528 000 49% 52% 300, B:21,900
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JL 900 49% 52% 3,000, B:19,300
JL 700 55% 57% 900, +:21.400, B:19.300
JL 700 55% 57% 900, F:21.400, B:19,300
JL 700 55% 57% 900, +:20.300, B:20,900
[ JLs2: 700 55% 57% 900, +:20.300, B:21,400
JL325 300 53% 56% 900, +:20.300, B:22,400
JL327 900 49% 52% 900, +:20.300, B:22,400
JL329 900 49% 52%  A:21.900, £:26.100, +:20.300, H:23000
JL331 900 49% 52%  A:21.900, £:26.100. +:20.300, H:23000
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L 600 53% 55% 800, + F:22,800
L923 400 7% 49% 000, H:24.900
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L287 400 37% 41% 500 17,500, H:22.400
HER L276 600 6% 49% _ £:19.500
L278 600 6% 49% _ £:19,500
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R (AH) =@ 0 R (AE) % 5 500 56% 59% 15,800, H:14.700
L477 600 47% 51% :18,100, B:16.300
9 300 51% 54%
L481 500 56% 59% 16, 14700
[JLa83 500 56% 5% 16, 14,700
[JLa8s 700 56% 5% 6,300, A:16,800
L487 800 43% 47% 0,200, £:14.700. H:19,300
TS L474 700 56% 59% £:16,000
6 700 53% 56% 16,500, F:14.700
L478 500 56% 5% 6,100, £:16,000. H:17,600
[ JL480 500 56% 5% 6,100, £:16,000. H:17.600
[JLas2 800 49% 53% 6,100, £:15,500, H:19,300
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[JLa93 7.500 50% 53%
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497 7.500 50% 53% 6100, A:19,800
499 9,600 44% 48% 16,100
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[JLa92 7.500 50% 53% 9,000
494 500 56% 5% 17,500
[ JL496 000 49% 52% 7,500, B:20,100
498 600 44% 48% 6100, B:21,100
RRECRE) =l R CHE) % 431 ,700 56% 59% :16,000
[JLa33 600 48% 51%
[JL4a35 500 51% 54% 8,100
437 700 56% 5% 7,500, £:18.100, H:18,600
[ JLa39 600 45% 49% 21,700, :18,100
443 600 45% 49% 21,700, £:19,100
AT 430 100 47% 50% 6,000
[JLa32 100 44% 48% +:21,700, H:16,000
434 700 56% 50% £:17.500, F:19,600
[ JL436 000 50% 53% | +:17,000, H:19.600
L438 600 48% 51% | £:19,100, £:17.000, H:21,200
La4 500 51% 54% % [:20,700, T:17.000
R FH) =AM R (E) % L: 7,100 58% 61% _ +:16,300, H:14,000
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JL 600 52% 55% | £:20,00, +:16,600, H:20,100
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L: ,900 54% 57% ,100, B:16,100
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JL 100 56% 58% 100, £:16,100, H:19,100
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RRCAH) =K% R CHE) % [ JL661 ,200 49% 52% 119,100
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JL671 600 53% 56% 1700, +£:19.600, H:21,200
5% JL662 600 53% 56% 00
JL664 200 47% 50% +:21,700, H:19,600
JL668 600 53% 56% £ H:20.200
JL670 100 52% 55% + H:20.200
JL672 200 47% 50% 21,700, £:19.100
JL674 700 48% 51% 21,300, £:19,100
RRCAE) =RE R (HE) % [ JL605 400 56% 58% 8,900
JL3981 400 53% 56% 18,900
JL607 500 55% 58% 0900, B:18,900
JL609 900 57% 5% :20,900
JL611 900 57% 5% 20,900
JL613 700 57% 59% 7,900, B:20,900
JL615 900 5% 6% 0,400
RIER JL606 900 59% 61%
400 56% 58% £:20.100, H:18.700
JL3982 900 5% 61% £ A:19,600
JL 900 5% 61% 600, H:20,600
JL 900 52% 55% 000
JL 900 52% 55% 000
JL 400 56% 58% 900, 20,400, H:20,900
RRCHE) =X RRCHE) % [ JL62 000 54% 56% 400
JL625 500 53% 55% 000, H:17.400
JL627 500 53% 55% 000, H:17.400
JL629 900 56% 59% 000, H:17.400
JL631 400 58% 60% 500, +:17,900
JL633 400 58% 60% 19,500
JL637 900 56% 59% % [:20,000, £:17.400
L639 400 58% 60% :20,000
L3S JL622 500 53% 55% 7.400
JL624 500 53% 55% 7,400
JL626 400 58% 60% 17,900
[ JL628 400 58% 60% 17,900, H:18.400
L630 000 51% 54% 500, +:17.900
JL632 000 51% 54% 500, +:17,900
634 000 51% 54% 500, +:17,900
L638 400 58% 60% 500, A:20,000
RR(PE) =5 R CHE) % L687 500 57% 60%  +:19,500
[ JL689 000 51% 54% % +:20,500, H:18.700
L691 000 51% 54% & +:20,500, H:18.700
[ JL693 200 53% 56% | %1:19,500
[ JL695 500 53% 55%  +:18.700, H:20.100
L697 500 57% 60%  £:21.100, A:19.600
ECES L688 500 57% 60% _ £1:19.100
[ JL690 600 52% 55%
[ JL692 200 56% 58%  +:18.400. H:20.300
1694 200 56% 58%  %:18,800, +:18,400. H:20,600
L696 600 50% 53%  :21.600, +:18,400
L698 600 50% 53%  :21.600, +:18,400
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[ JL653 9,800 55% 57% 7,900, B:20,800
L655 9,800 55% 57% & H:20,100, F:17.500
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L 500 58% 60% 300, £:19.800
L 500 58% 60% 600, £:19.800
L 000 5% 61% 600, £:19.800, H:20.300
100 56% 5% 600, £:19.800, H:20.300
[ JL650 900 54% 57% 600, £:19.800, B:21,100
[ JL652 900 54% 57% 600, £:19.100, B:21,100
L654 900 54% 57% 400, +:19.100, H:20.300
R (RE) =R GITR) | RR(RE) % 3049 400 46% 49%  £:21,200, £:25,300, £:18,800, H:20,500
HREFTR) R 3040 ,400 51% 54% & +:19,500
RR (RH) =18 R (RE) S | JL3057 900 49% 52% | A:21.900. £:26.100, 20,300, H:23,000
EEIGES 3052 ,700 55% 57%
KR () =&t AR (FH R L2123 500 53% 56% +:21.800, B:19,500
BREESE L2124 500 55% 58% 0,800
KR () =&F& KR (B 5 [ _JL 400 53% 56% 0,700, £:21,300, H:17.700
L: 700 57% 50% | %1:20,700, H:19.200
L: 8,000 56% 5% 1,200, H:20,700
HEHRER L: 8,000 56% 59% > £:20,400, H:17,700
L2154 7.700 57% 5% 18,900
L: 9,400 53% 56% 21,300, £:18,000
KR () =RE KR (FRFE | L 7.300 53% 56% 9,200, F:15.900
L217. 5,900 57% 60% 17,100
L217" 7.100 54% 57% 18,
HER L217. 7.100 54% 57% £:18.300, B:15,900
L217: 5,900 57% 60% :
L2171 7.300 53% 56% 200, 1:16.800
KR () =1LE KR (FR 5 |_JL2201 000 57% 5% 100
[JL2203 500 52% 55% 20,200, B:15,000
[JL2205 500 52% 55% 15,000
[JL2207 500 49% 53% 18,300
[JL2209 500 52% 55% 7,500, £:18,600. H:19,600
L2211 100 45% 48% 1.700. £:18,600, H:20,700
L2213 600 6% 50% 0,700, £:17.500, H:19.600
(=3 L2200 600 29% 52% :17,500
[JL2202 7.600 49% 52% 17,500
[JL2204 600 6% 50% 9,600
[JL2206 600 6% 50%
L2208 600 6% 50%
L: 000 1 54% 8100, B:20.700
L: 000 7 5% 5900, A:19,100
KR () =38 KIE(FFD 5 [ _JL 100 4 57% 6,700
L: 000 1 54% 15,700
L: 700 9 52% 8,200
L225 900 5% 49% :19,300, +:16,700
HiBR 224 7,900 45% 49%
L2241 700 29% 52% 418,200, H:17.200
[ JL224 700 49% 52% | £:18,00, H:17,700
L2250 700 49% 52%  %:18,800, +:15,700, B:17.700
RIR () =#aIl KR (FR) 5 |_JL2301 ,000 2% 49% _ XOKA:10600
[JL2305 800 43% 50%
L2309 .000 42% 49%  XJKA:10600
EATTES L2302 000 42% 49% _ RKA:10800
[JL2306 100 42% 48%  XJKA:10600
L2310 600 34% 41% 1.300
KR () =K% KR (FR) 5 |_JL2361 600 32% 39% £:15,700, H:13500
[JL2365 000 35% 42% £ H:15,200
L2367 200 34% 41% 5,200, B:15,700
RAFE | _JL2362 200 34% a1% +£:15,200, H:14,000
[JL2364 000 35% 42% 15,700
L2366 200 30% 7 :15,700, £:14,000
KR () =R KIE (D% | JL2s7 600 42% 7 117,600, H:15.900
L237. 600 42% 7 7,600, B:15,900
1237 400 50% 4 5,400, +:16.400, H:16,300
L237 900 45% 49 7.200
RiER L237. 900 45% 49% 600
L237: 400 50% 54% 400, H:15.900
L2371 400 50% 54% 400, B:15.900
1237 900 45% 49% :16,500., £:14,400
KR () =R KB (FFH R L238! 900 51% 55% 4,200, :14,500, H:12,700
[JL2385 500 45% 50% +:15.000, H:13.400
L2389 700 52% 56% 4,200, +:12.700, H:14500
AR [ JL2382 400 49% 53% 14,000, +:14,500
L2386 200 6% 51%  +:14.500, H:15,000
KR () == KR (B % [ _JL 200 6% 51% 5,800
L: 800 36% 42% +:18.900, H:17.400
L: 300 38% 43% 8900, B:18.400
L: 300 38% 43% 8,900, A:18,400
L: 300 38% 43% 8,900, A:18.400
BRRE L: 800 40% 45% +16.300, £:17.900
L: 800 40% 5% :16,300, £:17.900
L: 600 37% 42% 7800, +:17.200, H:18.200
L: 800 36% 42% :18,900. +:17.200
L: 300 38% 43% 8900, +:16.700, H:18.400
KR (B =ERE KR (FR 5 |_JL2401 900 54% 57% +:15.000
[JL2409 500 52% 55% 15,000
L2411 800 54% 58% 500, B:15,000
L2415 800 54% 58% 500, B:15,000
L2419 500 52% 55% 000, H:15.500
BERBE | JL2400 300 56% 50%  +:15000, A:13.900
[JL2402 300 56% 50%  +:15500, A:13,900
L2404 300 56% 50% |+ H:15500
[ JL2406 300 56% 5% 15,500
L2410 000 47% 51% :17,000
L2412 000 50% 54% 6,000, B:16,500
L2414 000 50% 54% 6,000, A:16,500
BEE (FH) =ILIE(FTR)| BEE (PED) 5 [_JL3103 300 54% 56% 3,300, +:23,900
[JL3105 500 53% 56% 21,600, H:19.800
L3107 500 53% 56% +:21,600, F:19,800
L3115 700 60% 62% 1,000, 3:19,200, B:22.200
L3117 700 60% 62% 1,800, £:19,200, B:22,200
IR 5 [_JL3100 700 60% 62% 119,200, H:17.900
[JL3106 900 57% 60% H:19.200
L. 900 57% 60% 18,600, H:19.700
L. 300 54% 56%  :19,800, % 1:20,100. H:22.200
800 53% 55% 0,300, %:21,000, +:21.400, B:24.900
BEE (MR =8 BHEUMOSE [ JU 800 48% 52% 15,300, H:13.400
HBR L 000 51% 55% 14,500
BEHE (MR =kEK BEECMOFE [ JLa34l 800 49% 52% +£:19.000
L4345 800 49% 52% | +:19,000
L4347 600 55% 50%  %:17,200, £ H:15700
33 L 700 52% 55%  +:16,300
L 300 50% 54% % H:17,000
L 800 49% 52%  +:14.600. A:19,000
LRGTITR) =F FLBR (G Fak) % | JL2803 500 40% 45%
[JL2805 500 40% 5%
L2809 600 35% 41% _ H:16,700
BR[| JL2s04 600 35% 41%  £1:16.700
[JL2806 500 40% 5%
L2810 500 40% 5%
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| AR ETCIE S IE "
ALIR (BT F %) =RE FLIR (B F ) % |_JL2821 .600 44% 48%
L2827 600 40% 45% 817,700
PEFE [ JL2822 .600 40% 45% & +:17,700
L2828 600 44% 48%
FR=IE G TR FeE L287 800 40% 44% £:21.900, H:18.700
L287. 800 40% 44% 21,900,
L287 800 40% 44% £:21,900, F:18,700
AR FT /) R [_uL287: 300 5% 49% 9,900
L2874 300 45% 49% 9,900
L2876 300 45% 49% 1.400
& =HIRFHTR) WER [ L2001 200 0% 44% £:20,600, H:17.000
[JL2903 000 40% 15% &3 :17,000
[JL2905 900 56% 60% 5,700, £:15.900, H:14,900
[JL2907 600 48% 52% | A:17,200, £:19.700, $:16,200. H:17,700
L2909 900 47% 51% | AH:17.100, £:19,800. £:19.200
AL (BT &) % |_JL2000 500 51% 55% 6,900
[JL2902 50% 53% +£:17.700
[JL2904 53% 56% :17,300 £:17.000
[JL2906 41% 46% 0,100, £:17.000. H:20.300
L2910 . 41% 46% 0,100, £:17.000. H:20.300
EBE=1EFHTR) EB%E L3403 .2 55% 57% 25,000
ALIE (TR | JL3406 ,200 55% 57% +:24.200, B:25,000
EE=LE mE% [ _JLsal 400 52% 54% 25,200, H:24.800
L3537 200 52% 55% 4,800
&% | JL3530 400 50% 52% 4,000
L3538 400 52% 54% :26,000. £:24,300
&fA =38 BRI L3525 ,000 57 59%
HiBR L3524 600 7 60%  £:20,500
1EhE =25 EEES [ JL3629 000 7
[ JL3633 000 7
L3641 000 7
ELES [ JL3620 ,000 7
[JL3630 000 7
JL3634 | 21 8000 64% 67%
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§¢ %
REASAR "
RR(HE) =KWK (FFH) FR(CRH) % JL101 B Al
JL103 L
JL107 BT
JLT11 L
JL113 =kl
JL115 L
JL117 =k
JL119 Bl
JLi21 21 BB
JL125 | 21H#m
JLi27 21 BBl
JL131 | 21881
JL133 | 21881
JL137 | 21881
JL13 21 B AL
KR (75 % JL10; 21881
JL104 1BEL
JL10 1881
JLi 18RI
JL1 1881
JL114 1881
JL1 1B A
JL118 181
JL120 1B A
JLi124 1B AT
JL126 1B A
JL128 1881
JL130 1B 8]
JL134 1B AT
JL138 1B A
RR(HEA) =Kk (B#E) EGACEDES JL225 1B B
ABR (BAFE) % | JL220 1B 81
JL224 1B AT
R (FE) =R FFR) | RRCAE)E [_JIL501 1B 81
JL503 1881
JL505 1B A
JL507 1881 300
JL509 181 .300
JL511 1B#] 40 44% |4 +:28000, H:19,300
JL513 1881 .00 52% |A:19.300, % 1:24,000, H:19.800
JL515 1EAT 40 54% & X
JL517 1BAT .40 54 £:19.000, £:19,500, H:20,000
JL519 1881 40 54% | £:19,000, £:19,500, H:20,000
JL521 1881 .00 52
JL597 1B#] 00 52%
JL523 1881 .30 52% .500
JL525 1HR] | 2040 49% ,800. H:20,500
JL527 1881 501 46% 00
JL529 1881 50 46% 00
JL531 1881 80! 50% 00
FLIR B F %) % | JL5O0! 1A 401 46%
JL50. 1881 40/ 44%
JL504 1881 40 46%
JL50 TE&L | 2000 50%
JL50 1HAT | 1840 54%
JL5 TERL | 19.30 52%
JL5 1HA] | 2030 49%
JL514 TERI | 2030 49%
JL516 1HR] | 2030 49% 600
JL518 TERI | 2060 48% .600
JL520 1HA] | 2060 48% 600
JL522 TERI | 2060 48% .600
JL598 1EA] | 2060 8% 600
JL524 1B&I | 2030 49% 600
JL526 1881 .00 52% 00
JL528 1881 00 52%
JL530 1881 60 53%
RE(FA) =48k RRCRE) % JL303 1B AT .40 58%
JL305 1B B 20,30 53%
JL307 1881 60! 48% 000
JL30 1B B .00 45% ,000
JL 1881 00/ 45% 000
JL. 1881 00 45% 000
JL TE&I | 2090 52%
JL317 1B#T 70 57% 9.300
JL 1881 70! 57% 9.300
JL 1BAT ,70( 57% 900
JL32 1881 70! 57% 1400
JL325 1881 .30 56% 400
JL327 1B&I | 2090 52% 400
JL TERI | 20,90 52% 300, H:23,000
JL 1HAT | 2090 52% : 0,300, H:23000
JL TERI | 20,90 52% | A:21900, £:26,100, £:20.300, H:24,000
JL 1HAT | 2090 52% | AH:24,000, #:26.100, £:20.300
(S JL: =KD 20,00 54% | H:19.000
JL30: 1B 81 20,90 52
JL304 1BAT .90 52%
JL30 1B 81 .90 50% ,000
JL30 1B AT .40 51% 000
JL 1B 81 20,90 52! .600, H:19,300
JL 1=k .90 52% 1600, H:19,300
JL 1BAT .70 57 900, H:19.300
JL316 1881 , 701 57% 0,900
JL318 1B 81 70! 55% 0,900
[ JL320 =L .70 55% 0,000
JL322 1B 81 401 49% 0,000
[ JL324 =L 40 49% 0,000
JL326 1BAT .40 49% 0,000, H:24.000
JL =L 40 51% 0,000, H:24,000
JL 1HAT | 2090 52% 0,000, H:24.000
JL 1=k 8,40 58%
RE(HBR) =+#@H) | RECEIHHE |_JILO 1681 3,80 51%
JL90 1=k 4,40 49%
JLIO! 1B 81 25,90 46% 600
JL90 TEAT | 2590 46% 600
JL 1B 81 25,90 46% 800
JL TEAI | 2590 46% 800
JL 1HAT | 2590 46% 28,500, H:23,800
JL =L 60 55% 3,900, H:22,800
JL 1BAT .60 55% H:22.800
[ JL92 =L 60 55% :23,800, + H:22,800
JL92 1881 .40 49% _|£:30,000, H:24.900
JL92 =L 4,40 49% 30, H:24,900
EEIE S JLIO! 1B 81 20,60 57% 500
JL90 =L 60 55% 500
JL9O. 1H81 30! 52 500
JL90 1BAT .40 47%
JL 1E 81 25,40 47 .100
JL TERI | 2540 47% 00, H:28.600
JL 1BEI | 2540 47 00, H:28,600
JL914 1BAT 2540 47% 00, H:28,600
JL TEAI | 2580 46 00, H:28,600
JL918 TERI | 2580 46% ,400, H:28,600
JL920 | 21HAi1 | 23200 52% 4,400, H:26.100
JL922 | 21HBAT | 23200 52% 4,400, H:26.100
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pAmE | EEE | i %
KR () =4IR FFRE) | AREFF | _JL2001 Ll 22,70 53 #1:26,900, H:20,400
JL2005 Hal | 2270 53 5700, H:20.900
JL2009 HAT_|_ 18,30 63 2,800, £:20,400, H:22.500
JL2019 HAI | 20.40 58" 5600, £:18,300, H:25.100
FLIR (BT FA%) % |_JL2000 B AT 20,90 57% & +:21900. H:20,400
JL2006 HAl | 22.40 54%
JL201 HAT_|_ 23,90 51% 2,400, H:26,900
JL201 Bi_|_ 23,901 51% 2,400, H:26,900
KRR (BE8) =4LI% (FFm) | AR(BI#E) % | _JL250 21 Al 20,10 59% 2,500, H:20,000
JL2503 | 21HAT 9,601 60% 1,000, H:19.000
JL2505 | 21 B8 9,001 61% 9,900, H:17.800
FLOR (F7F4%) % |_JL2500 | 21E1R1 9,001 61% 9,900, H:20,800
JL2514 | 21E81 9,00¢ 61% £:19,900, H:20,800
JL2518 | 21HAT | 20,101 59% 2,000, £:21,000, H:22,500
KR (1) =48 (R E) KB (FFH % | _JL2081 | 21HET 3,601 42% 6,500, H:20,900
JL2087 | 21 B8 7.80 56% 118,800
SREB(E % [ uL2084 | 21HAT 7.80 56% | H:21,600
JL2088 | 21 BB 60! 42% | H:26,500
13RE = FLIR (BT F &%) [EEES JL3513 | 21HAT 24,70 59% |&1:26,700
JL3515 | 21E81 | 24.70 59% | % +:25700
FLIR (BT FA%) % |_JL3510 1A .70 59% | H:25,700
JL3512 1BAT .70 59% | H:25.701
R CRE) =&i&E3] R CHE) % [ JL565 1881 7,601 64% |2 +:20400
JL567 1881 7.601 64 0,400
JL569 1881 7.60 64 1,200, £:20,200, H:18,600
ESERIES JL562 1881 9,001 61 ¥ +:19,500, H:23,700
JL564 1E#] 7,10 65% |£:18.100, H:20,800
JL566 1881 .90 67% 116,700, H:17.700
RRER(CHR) =8I FRECRE)FE | JL651 1EAT .20 65% H:16,400. 7k:16,100, £:17.200
JL553 1881 .40 65% | A:17.400, K:16,600. 416,500, £:19,700. £:20,300. B:17.600
JL555 1881 40/ 65% | 7K:16,000, A £:16,100, £:17.100
JL557 1881 .60 64% | % H:18,100
JEIIES JL552 1B#] 40 65% | £:16500
JL554 1881 0 67% | 7K:15.500. 7K:15.400, H:17.300
JL556 1881 5,301 67% | ::14,300, 7K:14,200, 7:14,400, :14,600, H:17.600
JL558 1881 4,801 68% | :X:13.800, 7k:13,700, :13900, 1:14,100, H:17.100
B CRE) =#IR HEECRE) % [ _JLs4l 1 E AT 7.70 62% 1,900
JL543 1881 8,701 59% | A:19.700, £ £:22.700. H:18,000
JL545 1EAT 6,20 65% | ANJKA:15.400. H:19,000
IS JL540 1B 81 6.401 64% A koK:16.100
JL542 1E#T 7,00 63% H:18.000
JL544 181 7.401 62%
B HERECRE) % |_JL573 1 H Al 4,90 7%
JL575 1881 6.901 % | k16,600, JKK: 100, H:17.200
JL577 1831 6.90 % | X:16,600, JKAK: 100, H:17.200
JL57 1881 7.70 % | k:17.600. 7} . 1:16.900, H:21.000
HILFE JL57 1B AT 7,301 62% | B:17.400, 4 100
JL57. 1881 5,40 66% | JK:15.100, A 600, H:17.700
JL574 1881 5,901 65% | sK:15,600, A: 7,100, H:18.200
JL57 1881 4,90 67% | 7:15.300, 7k: 5,600, £:17,700, H:19.900
RR(FA) =R HRCPE) % JL585 1A 5,801 58% |%:18,100, £:19,100, H:16,000
JL587 1881 6,00 57% |%+:19,800, H:17.900
JL589 1881 7,50 53% |£:19,800, £:17.200, H:19.200
HEER JL584 1A 7.80 53%
JL586 1881 6,001 57% | +:14,700. H:18.800
JL588 1881 8,40 51% | +£:17.200, H:21.000
RR(PA) =FH HRCPE) % JL141 1A 5,70 57%
JL143 181 5701 57%
JL145 1EAT 5,70 57%
JL147 1881 5701 57% | H:16.600
JL14 1B B 5,70 57% & H:16,600
JL 1BAT 5701 57% | % H:16.600
HEHRRE JL14 1 E Al 5,70 57%
JL14 1881 5,701 57%
JL144 1B B 5,70 57%
JL14 1BAT 5,701 57% | % H:16.600
JL148 1EAT .70 57% | % H:16,600
JL150 1881 .70 57% | £:16.600
RR(PA)= FR(HH) % JL155 1B AT 0 54%
JL157 1B 81 0 54
JL159 1EAT 0! 54%
ZiR% JL154 1881 0| 54
JL156 1B B .20 54%
JL158 1B 81 201 54
RR(FR)=#A HRCPE) % JL161 1B AT 5,70f 48% | H:13,900
JL163 1881 7,30 42% | H:15.700
JL165 1BAT 0 54% | H:15,700
JL167 1B AT 0 50% [7:16,800, £ H:17.300, £:14,500
PYEES JL162 1 E Al .80 44% |4 800
JL164 181 .70 48% 6,800, £:14.500
JL166 1BAT 5,70 48% 6,800, 1:14,500
JL168 1881 6,801 44% 7.800, £:13.900
RR(FA) =/Ma HERCPE) % JL183 1HAT 2,101 55% |4 3,300
JL185 1BAT 4,10 48% | H:12,600
JL187 1BAT 30 51% | H:12,800
JL189 1881 60 54% | % H:13.300
JL191 1=k 60! 54% |2 H:13,300
JL193 1881 10| 55% | 7K:12.600. % H:13.300
INHASE JL182 1B AT .30 51% |H:12,100
JL184 1881 .10 55% 800, £:13,300, H:12.600
JL186 1BAT .10 55% 800, 1:13,300. H:12,600
JL188 1881 .30 51% 600, H:13,800
JL190 1BAT .80 49%
JL192 1881 90 52% | 2:13,800, H:13.300
RRE(HR) =MW HERCPE) % JL231 1HAT 201 64% |H:13700, +:14,300
JL233 1E 81 70! 65% | H:13,300
JL237 1=k 70 65% | H:13.300
i Ly 5 JL232 1E 81 70! 65% 00
JL234 1=k 00 59% 5500, H:14.500
JL 1B 81 70! 65% 3,300
RR(PR)=LEE HERCPE) % JL: 1HAT 301 64%
JL26 1B 81 101 59%
JL263 1=k 30 64% [#:17.200, £:14,200, H:16.100
L% JL252 1E 81 4,501 61% | AK&+:15.100. H:13,300
[ JL254 1=k .10 56% | H:14,500
JL256 1881 .30 4 600, 100, H:15.900
[ JL258 1=k 30 4% 100, H:15.900
JL260 1BAT .30 4 100, H:15.900
HRCPE) =IO+ HRCPE) % JL291 1HAT 401 0% 500
JL293 1BAT .60 67% 500, H:14.200
[ JL295 1=k 00 66% 000
JL297 1881 00 66% 000
WAFEE [ _JL290 1EAI 201 63%
JL292 1881 .50 65% 000
JL294 THB] 00 66% 600
JL296 1BAT .50 70% 400, H:15.600
RR(PA) =HE HRCPE) % JL277 1HAT 601 49% 500
JL279 1HAT | 2000 42% . B:17.600
[ JL283 1=k 60 52% | H:
JL285 1881 60! 52% | H:18.200
JL287 1=k .40 41% | $:22.500, F:17,500, H:22.400
HER JL276 1B A1 601 49% 500
JL278 THB] 7,601 49% 500
JL280 | 21HA1 | 18,600 46% 19.900, H:19,500
JL284 | 21HBI | 20400 41% 1,700, £:18,600, H:22,100
JL286 | 21HA1 | 19.400 44% £ H:19.900, £:18,600
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mAgm TEE | s %
BRCHE) =#8 R CHE) % [ JL453 L 6,30 54% | H:15,000
JL455 L] 6.301 54% | H:15,000
JL457 HAL 5,001 58% 5,800
JL459 =kl 5,001 58% 5.800
JL461 B Al 6.30 54% 4,900, H:15800
JL463 B AL 5,301 57% H:16.300. £:14.600
JL465 HAl 5,301 57% :16,300, F:14,600
(S JL452 i 5,801 56% 5,000
JL454 21HAT 5,80 56% :15,000
JL456 | 21 B AT 5,30 57% |%+:15,800, H:15.000
JL458 21HAT 5,00 58% 5,300, H:15,800
JL460 | 21HAT 5,001 58% | £:15,300, H:15.800
JL462 21HAT .30 54 5,000
JL464 | 21881 .30 54 ,000
BRCHE) =&h HRCPAE)FE | J475 | 21880 .50 59 5,800, H:14,700
JL477 | 21881 60 515 8,100, H:16.300
JL479 21HAT .30 54%
JL48t | 21881 .50 59%
JL483 | 21H AT 50! 59%
JL485 | 21881 .70 59%
JL487 1B Bl 8.80 47%
ENR JL474 1B 81 4,701 59%
JL476 1881 .70 56% H:14,700
JL478 1881 .50 59% . B:17.600
JL480 1EAT 50 59% H:17,600
JL482 1BAT .80 53% H:19.300
JL484 1B A 8,60 48%
JL486 1881 8,401 48%
BR CRE) =54 HERCRE) % [_JL491 1EAT 7,501 5
JL493 1881 7.501 5
JL495 1B B 5,50 5!
JL497 1BAT 7.501 5 6,100, H:19.800
JL499 1B AT 9,60 48
S JL490 1B AT 8,501 51% ¢ +:19.600, H:17,500
JL492 1B B 7.50 53% |£:18,500, £:19,000
JL494 1BAT .50 59% | % +:18,500, H:17.500
JL496 1EAT 00 52% 2200, +:17,500, H:20.100
JL498 1881 .60 48% 1,700, £:16,100, H:21,100
R CRE) =il HEECRE) % [_JL4st 1 E BT 5,70 59% |2 +:17,500. H:16,000
JL433 181 8,601 51% 6,500
JL435 1B AT 7.50 54% £:18,100
JL437 1BAT .70 59% | %:17.500, £:18,100, H:18.600
JL43 1881 60 49% |&H:21,700. £:18,100
JL44 1881 .60 49% | & H:21,700, £:19.100
[PATTES JL4 1 E BT .10 50% :16.000
JL4 1HAT | 2010 48% 1,700, H:16,000
JL434 1E#] .70 59% 7,500, H:19,600
JL4 1BAT .00 53% 7.000, H:19,600
JL4 1E#] 60 51% :17,000, H:21,200
JL4 1HAT 50 54%
FR(HE) =4t M FR(HH) % JL37 1B B .10 58%
JL37 1881 .10 56%
JL375 1B B .10 56%
JL377 TERI | 2060 53%
JL37 1B B 20,60 53%
JEAMFE JL37 1881 7,10 61%
JL37 1B#] .90 54%
JL374 181 .10 58% 8,500
JL37 1B#] .10 56% 7.100, H:20.100
JL37 181 .40 65% ,000. H:18.100
RR(PR) =K% HRCPE) % JL66 1B AT 20,20 52% 100
JL66 1HAT | 2020 52% .100
JL665 1HR] | 2020 52% 100
JL667 1HAT | 2020 52% 700, H:19.600
JL669 1HH] | 2020 52% :20,700
JL671 1881 .60 56% 9,600, H:21,200
A% JL662 1 E Al .60 56%
JL664 1B 81 .20 50%
JL668 1E AT 60! 56%
JL670 1B 81 0 55%
JL672 1E#T .20 50%
JL674 1B 81 20,70 51%
RR(FA) =& HRCPE) % JL605 1B AT 19.40 58%
JL3981 1HAT | 2040 56%
JL607 1B AT .50 58%
JL60: 1B 90! 59%
JL 1=k 90 59%
JL 1881 .70 59% | £:21.400, £:17,900, H:20.900
JL615 1B AT 7,90 61% | £:21,400, H:20.400
RIS JL606 1E 81 7.90f 61% 600
JL608 1BAT 9,40 58% |4 0,100, H:18,700
JL3982 1BAT 7.901 61% |%t H:19.600
JL 1=k 7.90 61% 600, H:20,600
JL 1E 81 20,90 55% .000
JL614 1BAT .90 55% ,000
JL 1881 .40 58% .900, £:20,400. H:20.900
RR(FA) HRCPE) % JL623 1EAT 001 56% 7.400
JL625 1881 50 55% | 4:20,000, H:17.400
JL627 =L 0 55% | £::20,000, H:17.400
JL629 181 .90 59% | £:20,000, H:17.400
JL631 1BAT 7.40 60% 119,500, 1:17,900
JL633 1881 7.401 60% 119,500
JL637 1BAT 7.90 59% :20,000, £:17,400
JL639 1881 7.401 60% :20,000
BAR [_JL622 1HAT 9,50 55%
JL624 1E 81 9,501 55%
[ JL626 1=k 7.40 60%
JL628 1E 81 7.401 60%
JL 1BAT 0,00 4%
JL 1E 81 20,00 4
JL634 1BAT 0,00 4
JL 1B 81 7.401 60
RR(FR) =2 HERCPE) % JL68 1HAT 7,501 60%
JL689 1HAT | 2000 54% 0,500, H:18.700
[ JL691 1=k .00 54% 0,500, H:18.700
JL693 181 .20 56% 9,500
[ JL695 1=k .50 55% 8,700, H:20,100
JL697 1881 50 60% 1,100, H:19,600
S [ _JL68s 1HAT 7.50 60% |£+:19,100
JL690 1BAT .60 55%
[ JL692 1=k .20 58% ,400, H:20,300
JL694 1BAT .20 58% 800, 400, H:20,600
[ JL696 1=k .60 53% 21,600, 400
JL698 1HAT | 2060 53% | £:21,600, £:18.400
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3/11-17
3{7E
= Rl e
REASAR EEES "
HR(AE) =ERS HERCRE) % [_JLe4l B AT 17.50 62%
JL643 HAl | 19.60 57% 21,100, H:17.500
JL645 =k 1,40 54% :21,900, H:19.600
JL64T =kl 7.501 62% 9,600, % F:21,100, H:20,100
JL649 =kl 7,50 62%
JL651 =kl 7.501 62%
JL653 HAl 9,801 57%
JL655 Al 9,801 57%
ERBH JL640 | 21HAT 7,50 62%
JL642 | 21881 8,501 60%
JL644 21HAT 8,50 60%
JL646 | 21BAI 8,00 61%
JL648 | 21HI 9,101 59%
JL650 | 21881 9,901 57%
JL652 | 21881 9,901 7%
JL654 | 21881 9,90 7% 9,100, H:20,300
R (RRE) =4Ik (31 F ) [ EZ(BE)%E | J13049 [ 21HE | 20.40 49% . 25,300, 1:18,800, H:20.500
FLOR (FFaE) % | JL3040 | 21ERT 18.40 4% :19.500
RR (R EA) =18k HE(ARE)SE | JL3057 | 21HAT 20,90 52% 1,900, £:26,100, 1:20,300, H:23,000
FEEES JL3052 | 21H%I 18,70 57%
PNACESEETH ABR(FFH % | JL2123 1A 20,501 56% e +:21,800. H:19,500
REEH JL2124 1B 81 9,501 58% 0,800
AR (FFH) =& & KB (FFH % |_JL2151 1A 9,401 56% 0,700, +:21,300, H:17.700
JL2153 1881 7.701 59% 0,700, H:19.200
JL2157 1881 8,001 59% 1,200, H:20,700
BHE JL2152 1B 81 8,00 59% :20.400, H:17,700
JL2154 1B#] 7.70 59% H:21, 18,900
JL2158 1BAT 9,401 56% | % H:21,300, £:18.000
KR () =B KB (FFH % | _JL217 1A 7.30 56% |%:18,600, £:19,200, B:15.900
JL217 1BAT 5,90 60% |%+:18,600, H:17.100
JL217 1B B 7.10 57% |#£H:18600
PR JL217. 188 7.10f 57% > +:18,300, H:15,900
JL2174 1881 5,90 60% |% H:19,200, £:16,800
JL217 1BAT 7.301 56% | H:19.200, £:16.800
AR (FFH) =& KB (G % |_JL2201 1B AT 001 59% .100
JL2203 1BAT .50 55% 00, H:15,000
JL2205 1EAT .50 55% 00, H:15,000
JL2207 1BAT 50 53% H:18.30
JL2209 1881 50! 55% 8,600, H:19.600
JL2211 1881 .10 48% 8,600, H:20.700
JL2213 1B B 60 50% 7,500, H:19,600
e JL2200 1B 81 601 52% . B:17.500
JL2202 1B B 7.60 52% 8,100, H:17.500
JL2204 1881 .60 50% 9,100, +:19,600
JL2206 1881 60 50% 9,100
JL2208 1881 60! 50% 9,100
JL2210 1B#] 7,00 54% | % :18,100, H:20,700
JL221 1881 5,00 59% :15.900, H:19.100
KR (FF) =#i8 KB (FFH 5 | _JL224 1A 101 57% |3 :16,700
JL224 1881 00/ 54% |#+:17.700, H:15.700
JL2247 1B B .70 52% |£:17,700, H:18,200
JL2251 1881 90! 49% | & H:19,300, £:16.700
HiRRE JL2240 1A 7.90 49%
JL2246 1881 70! 52% | % +:18,200, H:17.200
JL2248 1B B .70 52%  |#:18,200, H:17,700
JL2250 1881 70! 52% | £:18,800, £:15,700, H:17.700
KR (FFF) =#al KB (FFH % |_JL230 1A 001 49%
JL230! 1881 .80 50%
JL230 1881 00 49%
IS JL230: 1H A .00 49%
JL230 1881 00 49%
JL2310 1881 60! 41% | £:11.300
KR (FFH) =K% KB (G % |_JL2361 1B AT 601 39% |#+:15700. H:13,500
| JL2365 1881 00! 42% | &1 H:15.200
JL2367 1EA] .20 41% _|%:15200, B:15.700
ANH | _JL2362 1881 .20/ 41% | 1:15,200, H:14.000
JL2364 1BA] 00 42% & H:15700
JL2366 1881 0! EEY=E . £:14,000
KR () =R KB (FHFH % | _JL2371 1B AT 0 47% 5,900
JL2373 1881 60! 47% 5,900
JL2375 1881 40 54% 116,400, H:16.300
JL2377 1881 90! 49% 7.200
RIEH JL2372 1B AT 901 49% 6,600
JL2374 1881 40! 54% 5,400, H:15.900
JL237 1B B 40 54% 5,400, H:15,900
JL237 1881 90! 49% 116,500, £:14.400
KR (FF) =& KB (FHFH % | JL238: 1EAI 2,901 55% 00, B:12,700
| JL2385 1881 4,50 50%
JL2389 1B B 70 56%
33 | JL2382 1B AT 401 53
JL2386 1BAT .20
KR (7D =2 RR(FFHF | _JL2431 1881 .20
[ JL2433 1HEI 801 4
JL2437 1E 81 30! 4
JL2441 1BAT .30 4
JL2443 1B 81 30! 4
S JL2430 1HAT 801 45%
JL 1881 .80 45% | H:16,300, £:17.900
JL2434 1=k .60 42% [%:17,800, +:17.200, H:18,200
JL 1881 .80 42% | & H:18,900, £:17.200
JL 1=k .30 43% __|%:18,900, 1:16,700, H:18.400
KR (FFH) =R KR (FFH | _JL240 1681 .90 57% 2 £:15.000
JL 1881 501 55% % H:15,00
JL 1881 .80 58% | £:14,500, H:15.000
JL2415 1BAT 3.80 58% ,000
JL2419 1B 81 4,501 55% 500
BEREH JL2400 1HAT 301 59% ,900
JL240 1B 81 30! 59% .900
JL2404 1=k 30 59%
JL: 1B 81 30! 59%
JL2410 1BAT .00 51%
JL: 1B 81 .00 54% :16.500
JL2414 1=k .00 54% :16,500
BEE (RER) =4LIR (BT TR | B E (&) 5 [ JL310 1B 81 .30 56% :23.900
[ JL310! 1=k .50 56% . H:19,800
JL3107 1881 .50 56% | % +:21,600, H:19.800
JL3115 1=k .70 62 :21,000, £:19,200, H:22,200
JL3117 1881 .70 62 2:21,800, £:19,200, H:22.200
AL B %) % |_JL3100 1HAT 701 62 9,200, H:17.900
JL3106 1E 81 .90 60 e+ H:19.200
JL3110 1=k 7,90 60% 8,600, H:19.700
JL3114 1BAT 9,301 56% | A:19.800, £ £:20.100, H:22,200
JL3118 1=k 80 55% | A:20,300, £:21,000, +:21.400, H:24900
AEE UMD =B AEEUMRF | JL4333 1B AT 801 52% ,300, H:13.400
B JL4334 1EAT 001 55% 500
AEE UMD =X AHEE MO F | JLa34 1E 81 801 52% .000
JL4345 1=k .80 52% 9,000
JL4347 1BAT .60 59% 7.200, £ H:15.700
BAR JL4 1HAT 701 55% 6,300
JLA 1881 .30 54% H:17.000
JLa 1=k .80 52% :14,600, H:19,000
IR TR =57 FLOR (7 F4%) 3¢ |_JL280 1B A1 501 45%
[ JL280! THB] 50 45%
JL2809 | 21BA1 | 15600 41% | H:16.700
HEHRRE JL2804 | 21HBI 15,600 41% |£+:16,700
JL2806 | 21EA1 | 14.500 45%
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LR TR =#BE AREFTFRF [ JL2s21 | 21HAET 5,601 48%
JL2827 | 21HA0 6,601 45% | H:17.700
EHSR JL2822 | 21HAT 6,60 45% | £1:17,700
JL2828 | 21HAT 5,601 48%
FR=HIRFTFR) HBE JL2871 | 21HET 9,801 44 1,900, H:18,700
JL2873 | 21HAT 9,801 44 1,900, H:18.700
JL2877 | 21B81 9.80 44 21,900, H:18,700
AR EFTTFR) F [ _JL2872 | 21880 8,301 49%
JL2874 | 21BH81 8,30 49%
JL2876 | 21HAT 8,301 49%
E =418 (BT was JL2001 | 21EAT 9,201 44% 0,600, H:17,000
JL2903 | 21 B8 9,00 45% 0,400, H:17.000
JL2905 | 21 AT 5,601 55% 7300, £:16,700. H:15.700
JL2907 | 21BAT 6,601 52% £:19.700, £:16.200, H:17.700
JL2909 | 21EAT 6,901 51% 9,800, £:19,300
FLOR (F7Fa%) 6 |_JL2900 | 21ER] 5,501 55%
JL2902 | 21HEI 6.10 53%
JL2904 | 21 B8 5,101 56% |4 H:17,300, £:17.000
JL2906 | 21EAT 7.60 49% 119,100, £:17,000, H:20.300
JL2910 | 21881 8,701 46% 0,100, £:17,000. H:20.300
RE=HRFTFR) LB% JL340 1A 3,20 57% 5,000
ALIR (BT Fa%) 5 | JL340! 1B A1 3,201 57% 4,200, B:25,000
i =1l& (RS JL353 1A .40 54% £ +:25200. H:24,800
JL353 1881 .20/ 55% | H:24.800
was JL3530 1A 24,40 52% | H:24,000
JL3538 TERI | 2340 54% | % H:26,000, £:24.300
1R =38 (S JL3525 1B AT 20,00 59%
B JL3524 1B AT 19.60 60% |£:20.500
[HEEEE [EEES JL3629 1A ,000 67%
JL3633 1881 000 67%
JL3641 1B B ,000 67%
S JL3620 1B AT 000 67%
JL3630 1881 000 67%
JL3634 1Bl ,000 67%
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P B4 = S347E 447E
A E ERE
R CRE) =Xk (D) RRCEA) % JL101 -
JL103
JL107
JLI11
JL113 — — —
JL115
JL117
JL119 — — ——
JL121
JL125
JL127 — — ——
JL131
JL133
JL137 — — ——
JL139
PGS JL102
JL104 — — —
JL106
JL110
JL112 — — ——
JL114
JL116
JL118 — — —
JL120
JL124
JL126 — — ——
JL128
JL130
JL134 — — —
JL138 — — —— —
RRCHE) =X (BIAE) | mRmCHEFE | J1225 11,900 57% 11,900 13,500
KB (BEFE) % |_JL220 [ 218 8,900 68% 9,500 9,500
JL224 | 218 12,800 54% 12,800 13,300
R (FE) =AMEFTR) | RRCAB)E |_JLso1 | 218 19.700 51% 21,200 23,200
JL503 | 218 20,300 49% 27,600 29,700
JL505 | 218 20,600 48% 27,600 29,700
JL507 | 21H 24,000 40% 30,000 29,700
JL509 | 218 24,000 40% 30,000 29,700
JL511_| 218 23,700 41% 30,000 29,700
JL513 | 218 20,300 49% |4:20,600. % 1:25.300 27,000 26,000
JL515 | 218 19,700 51% |£1:21.300 24,000 23,400
JL517 | 218 19,700 51% [%:20,300, ! 23,600 23,100
JL519 | 21H 19,700 51% [%:20.300, 23,600 22,100
JL521 | 218 20,300 49%  [%:21,300, 24,500 21,900
JL597 | 21H 20,300 49% [%£:21,300, X 26500 21,900
JL523 | 218 20,600 48% [£:25500, £:20.100 26,800 21,700
JL525 | 21H 20,100 50% | JkJK:21,700. £:22.500. £:26.600 27.000 21,700
JL527 | 218 22,800 43% 126,600, £:20.100 29,100 21,700
JL529 | 21H 22,800 43% | £:26.600. 29,100 21,700
JL531 | 218 21,100 4%  [£:25,500, 26700 21,700
FLIR (BT FaR) | JL500 | 218 22,700 43% 23,400 26,300
JL502 | 218 23,700 41% 24,500 26,000
JL504 | 21H 22,700 43% 23,300 23,300
JL506 | 218 21,300 47% 22,500 23,100
JL508 | 21H 19,700 51% |%:20.900 22,000 23100
JL510 | 218 20,600 48% | %:20,900 22,300 23,100
JLs12_| 218 21,600 46% | %:23.200 23,800 22,300
JL514_| 218 21,600 46% 24,200 22,300
JL516 | 21H 21,600 46% 24,700 22,300
JL518 | 218 21,900 45% 24,700 22,300
JL520 | 21H 21,900 45% 25400 22,300
JL522 | 218 21,900 45% 25,400 22,300
JL598 | 21H 21,900 45% 25400 22,300
JL524 | 218 21,600 46% 26,300 22,000
JL526 | 21H 20,300 49% 26.300 22,000
JL528 | 218 20,300 49% 25,600 21,200
JL530 | 21H 19,900 50% 24,400 21,200
RR(HH) =18k HR(FE) % [_J303 [ 218 20,400 53% 22,900 26,900
JL305 | 21H 22,300 49% 23400 26,900
JL307 | 218 24,600 44% 25,700 28,000
JL309 | 21H 26,000 40% 27.100 28,000
JL311_| 218 26,000 40% 27,100 28,000
JL313 | 218 26,000 40% 27.100 28,000
JL315 | 218 25,000 43% 25,000 28,000
JL317_| 218 20,700 53% 24,300 25,300
JL319 | 218 20,700 53% 24,300 24,200
JL321 | 218 20,700 53% 24,300 24,200
JL323 | 218 20,700 53% 24,800 24,200
JL325 | 21H 21,300 51% 24,800 24,200
JL327 | 218 22,900 47% 25,801 22,300
JL329 | 21H 22,900 47% 28,20 22,300
JL331_| 218 22,900 47% 28,201 22,300
JL333 | 21H 22,900 47% _[A:23.900, 28,20 22,300
JL335 | 218 22,900 47% | A:26,000, 4 28,201 22,300
[HEES JL300 | 21H 22,00 26,700
JL302_| 218 24,20 26,700
JL304_| 21H 24,20 26,700
JL306 | 218 25,50 26,700
JL308 | 21H 25,00 26,700
JL310_| 218 23,60 26,700
JL312_| 218 23,60 26,700
JL314_| 218 23,30 26,700
JL316 | 21H £:22,900 26,00 22,900
JL318 | 218 £:22,900 26,00 22,900
JL320 | 21H £:22,000 26,00 22,100
JL322 | 218 £:22,000 26,00 22,100
JL324 | 21H £:22,000 26,00 22,100
JL326 | 218 £:22,000 26,70 22,100
JL328 | 21H £:22,000 26,70 22,100
JL330 | 21H £:22,000 26,70 22,100
JL332_| 21H 25,801 22,100
RR(CHB) =44 (BH) RHRCRA) % JL9OT 218 29,00 29,400 |
JL903 | 21H 29,40 33,900
JL905 | 21H 29,90 33,900
JL907 | 21H 29,90 33,900
JL909 | 21H 29,90 33,900
JL913 | 21H 29,90 29,400
JL915 | 218 29,90 24,500
JL917_| 218 27.801 26,500
JL919 | 218 27.80 26,500
JL921 | 21H 26801 26,500
JL923 | 21H 33,20 25,800
JL925 | 21H 33,20 25,800
ShEB(FRE) R |_JLeo0 [ 218 25,00 25,000
JL902_| 21H 25,00 25,000
JL904_| 21H 26,801 26,800
JL906 | 21H 27.30 27,800
JL908 | 21H 27.30 28,300
JL910 | 21H 29,60 28,300
JL912_| 218 29,60 28,300
JL914_| 218 29,60 28,300
JL916 =5l 29,60 28,300
JL918 1881 30,40 28,300
JL920 =5 27.80 27,800
JL922 1HE1 | 24600 49% % +:25.800 26801 26,800
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3/22-26 3/18 3/19 3/20 3/21
R B4 = = 347E 347E 347E 347E 347E
‘)ig EEE 21315 & EEE EEE EEE EAE
KR () =FIRFFi) | RER(BFHF [_JLeo0i [ 218 23,700 51% £:27.900 27,900 36,300 23,800 | 23800
JL2005 | 21H 23,700 51% |4 1:26,700 26,700 35,500 23800 | 23,800
JL2009 | 21H 19,300 60% 123,800, +:21.400 23,800 21,400 23500 | 25000
JL2019 | 21H 21,400 56% |%:26,600, £:19.300 26,600 22,500 26,100 | 26,100
FLIR (FFF &) % [_JL2000 | 218 21,900 55% +:22.900 24,500 25,900 22800 | 23.800
JL2006 | 21H 23,400 52% 23,400 25,800 24,900 | 25.400
JL2010 | 21H 24,900 49% 24,900 24,900 27900 | 35700
JL2016 | 21H 24,900 49% 24,900 24,900 27900 | 35,700
KR (FAT) =fLIR (BT F) | RBR(BIF) % | JL2soi [ 218 21,100 57% 27,300 35,200 25200 | 22300
JL2503 | 21H 20,600 58% 26,800 27,300 25200 | 24,700
JL2505 | 21H 20,000 59% £:20.900 24,500 24,400 24300 | 24.900
ALOR (BT F#%) 56 |_JL2500 | 218 20,000 59% | 1:20,900 24,200 22,400 23,800 23,800
JL2514 | 218 20,000 59% +:20,900 24,200 22,400 23800 | 23.800
JL2518 | 21H 21,100 57% |%:23,000, £:22,000 25,400 25500 26800 | 36,500
KR (B =4 H) | KREFMFE [ _Jl2081 | 218 26,600 35% +:29.500 29,500 29,100 27500 | 27.500
JL2087 | 21H 20,800 49% 21,800 22,300 22800 | 22,800
S RE % | JL2084 [ 218 20,800 49% 21,800 21,800 24,600 | 24.600
JL2088 | 21H 26,600 35% 26,600 26,600 29500 | 29,100
18R = ALI% (B Fi%) [HEES JL3513 | 218 24,700 59% [€+:25700 26,700 27,500 24,700 24,700
JL3515 | 21H 24,700 59% |&1:25.700 26700 24,500 24700 | 24700
#LIR (FF &) % [_JL3510 | 218 24,700 59% 26,700 24,700 26200 | 24.500
JL3512 | 21H 24,700 59% 26,700 24,700 26200 | 27.500
R CHE) =%@5 HRCHE)H | JL565 | 218 17.600 64% 20,400 22,500 32,400 19,400 19,400
JL567 | 218 17,100 65% % 1:19,900 22,500 30,500 19,400 19,400
JL569 | 218 17,600 64% |£:21,200. £:20.200 22,000 22,000 20700 | 20.700
SIS JL562 | 21H 19,000 61% [#1:19,500 21,000 19,500 24,300 | 34,500
JL564 | 21H 17,100 65% 8.100 20,300 19,500 24300 | 33.400
JL566 | 218 15,900 67% | %:16,700 18,800 19,500 25000 | 30,000
BR(HHE) =8l RERCHE)H | JL561 218 16,400 65% | JkA:16,500, £:17.400. +:17,800 20,400 17,800 17,200 17,200
JL553 | 218 17,600 62%  [7:17,800, %:20,500, +:22,000 22,200 22,200 17,700 17,700
JL555 | 218 16,100 65% 16,000, £:17.100 22,200 16,100 16.400 16,900
JL557 | 218 16,600 64% 22,500 16,600 18,100 19,300
JOIES JL552 | 218 16.400 65% 18,400 18,600 16,400 16,400
JL554 | 218 15,500 67% | %:15,600 17,700 15,500 20300 | 20500
JL556 | 218 15,000 68% |X:16.100, JKK:16.000, £:16.700 20,900 18,700 21,400 17.800
JL558 | 218 14,500 69% [:X:15,600, JKA:15,500, #:16.200 20,900 18,200 20,900 17,300
HRCEE) =3I RERCEE)F [ JL541 218 18,000 61% +:23.400 23,400 — 19,700 19,700
JL543 | 218 19,400 58% | 4:20,400. % 1:23.400 23,400 30,200 18,700 19,400
JL545 | 218 16.100 65% £:17.500 19,200 18,800 20700 | 20.700
FEES JL540 | 218 16,700 64% [4:17.100, & £:17.600 19,200 30,200 19,300 18,600
JLs42 | 218 17.700 62% [£1:19.200 19,200 21,300 19,300 19,300
JL544 | 218 17,800 61% |%:18,400, +:17.200 20,800 20,800 23800 | 27.800
EEACTEL N RERCEER | JLs73 [ 218 15,100 67% [7K:14.900, 7:15.400, £:19.000. 1:20,600 22,500 22,100 15,300 15,300
JL575 | 218 16,900 63% [ K:16,600, %:17.200 19,400 — 17,100 17100
JL577 | 218 16.900 63% 16,600, £:17.200 19,400 16.900 17.100 | 20,100
JL579 | 218 16,700 63% 7.900, 7K:17,700, A %:18.100 21,600 16,700 22,400 ——
LR JL570 | 21H 17,600 61% 119,700, 1:20.300 24,000 — 16,400 16,400
JL572_| 218 15,400 66% [7K:15,300, %:17.300 21,100 16.400 17,900 17,900
JL574 | 21H 15.900 65% [%:17.800 21,600 16.900 18,400 —
JL576 | 218 15,300 66% [:15,900, %:17.400, +:15,400 23,700 15,400 21,300 | 21,300
RR (FH) =K RRCPE)R | JLses | 218 15,800 58% 9,300, 1:20,300 21,700 24,300 18,500 18,500
JL587 | 218 16,000 57% 19,800 21,200 22,600 19,000 19,000
JL589 | 21H 17.500 53% 9,800, £:17.200 21,500 17.200 21,700 ——
2 JL584 | 21H 18,500 51% 17,800 19,300 — 19,900 19,900
JL586 | 21H 16.100 57% 4,700 18,200 17.300 23,300 15,600
JL588 | 218 18,400 51% | +:17.200 20,900 17,200 22700 | 22,700
RR(FH) =% RERCEE R [ JLi41 218 16,200 55% 16,200 17,300 16,200 17,300
JL143_| 218 16,200 55% 16,200 18,400 16,200 17,300
JL145 | 21H 16.200 55% 16.200 18.400 16.200 17.300
JL147_| 218 16,200 55% 16,200 17,300 16,200 17,300
JL149 | 21H 16.200 55% | %:16.900 16.900 17.300 16,200 17.300
JLI51 | 21H 16.200 556 |%:16.900 16.900 17.300 16.200 17.300
EHR JL140 | 218 16,200 55% 16.200 17.300 16.200 17.300
JL142_| 218 16,200 55% 16,200 17,300 16,200 17,300
JL144_| 218 16.200 55% 16.200 17.300 16.200 17.300
JL146 | 21H 16.200 55% | 4:16,900 16.900 17.300 16.200 18,000
JL148 | 21H 16.200 55% | 4:16.900 16.900 17.300 16,200 18,000
JL150 | 21H 16.200 556 |%:16.900 16.900 17.300 16.200 17.300
R (FHE) = RRCRE)FE | _JL155 | 21H 17.000 52% 17,000 18.400 17,000 18,400
JL157 | 218 7.000 52% 17,000 8.400 17,000 18,400
JLI59 | 21H 7.000 52% 17,000 8.400 17,000 18,400
R JL154 | 21H 7,000 52% 17.000 8.400 17,000 18,400
JL156 | 21H 7.000 52% 17,000 8.400 17,000 18,400
JL158 | 218 7.000 52% 17,000 8.400 17,000 18,400
RR(FH) =B RERCEE)HE | JLi61 218 6.200 46% 16.400
JL163 | 218 7,800 41% 18,400
JL165 | 21H 4,400 52% 15,400
JL167 | 21H 5,600 48% [:17,300, %:17.800, *£:15,000 18,100
FhER JL162 | 21H 7,300 42% > 1:18,300 19,100
JLi64_| 218 6,200 46% _|%:17.300, £:15,000 17,90
JL166 | 21H 6.200 46% _|£:17.300. £:15.000 17,90
JL168 | 218 7,300 42% _|%:18,300, £:14.400 19,00
RHRCRA) =/ RRCRA)H JL183 21H 2,600 54% > 1:13.800 13,80¢
JL185 | 218 4,600 46% 14,60
JLi87 | 218 3,800 49% 13,80
JL189 | 21H 3,100 52% _|%:13,800 13,801
JL191 | 218 3,100 52% |%:13,800 13,80
JL193 | 218 2,600 54% [:13,100, %:13,800 13,80
IMAFE JL182 | 21H 3,800 49% 13,80
JL184 | 21H 2,600 54% [%:13,300, £:13,800 13,30
JLi86 | 21H 2,600 54% |£:13.300, :13.800 13,30
JL188 | 218 3800 49% | +:13,100 13,80
JL190 | 21H 4,300 47% 14,30
JL192 | 21H 3,400 51% |%:14,300 14,301
R CRA) =W HRECRA) % JL231 218 4,400 60% 14,40
JL233 | 218 3900 62% 14,701
JL237 | 21H 3,900 62% 14,70
[ENTES JL232 | 21H 3,900 62% [+:14.400 14,40
JL234 | 21H 5,800 56% 15,80
JL236 | 218 3900 62% @ 1:14,500 15,701
RHRCPA) =58 HRERCRA) & JL253 | 21H 4,800 60% 15,70
JL261 | 218 6,600 55% 18,101
JL263 | 21H 4,800 60% |£:18.700. £:15.700 18,60
B3 JL252 | 218 6,600 55%  [JK:16,000 16.60( 0
JL254 | 21H 7,600 52% 18,10 .30 I
JL256 | 218 4,800 60% _|%:18,100, £:16.600 18,60 8,100 19,101 19,10
JL258 | 21H 4,800 60% 8,100, £:16.600 18,60 8,100 19,10 19,10
JL260 | 21H 4.800 60% _|%:18,100, T:16.600 18,60 8,100 19,10 —
RR(FHE) =LAFH HRECHE)HE [_JL291 218 4,900 64% 5,500 14,90 8,200 15,00 15,00
JL293 | 21H 6,100 61% 116,500, £:16,000 16,50 7500 16,70 19,50
JL295 | 21H 6.500 60% 6,500, £:16.000 16.50 6.900 18,50 20,700_|
JL297 | 218 6,500 60% 16,50 6.900 18,501 20,700 |
WO FEFE JL290 | 21H 7,700 57% 17.40 8,500 16,90 17.90(
JL292 | 218 7.000 59% 17.00 8,500 15,501 17,900 |
JL294 | 21H 6.500 60% [%:17.500 1750 8.800 18,10 21,50
JL296 | 218 5,000 64% _|%:18,500, £:14.900 18,50 6.400 18,101 22,00
RHRCPA) =HE RHRCPA) R JL277 | 21H 8,800 46%  |€::20,000, £:20,700 20,00 0,700 19,30 19,30
JL279 | 218 1,200 39% % 1:21,600 21,60 — 21,70 21,70
JL283 | 21H 7.800 49% 19,40 21,500 19,40 ——
JL285 | 218 7.800 49% 19,40 21,500 19,401
JL287 | 21H 1,600 38% |£:23.700, £:18.700 23,70 21,500 23,60
HER JL276 1HAT | 18800 46% :20,700 20,70 1,200 19,70
JL278 1881 | 1 46% 0,700 20,70 1,200 19,70
JL280 THET | 19.800 43% 1,100 19,80 3,100 20,70
JL284 1HA1 | 21600 38% :22,900, +:19.800 22,90 1,300 23,30
JL286 THET | 20,600 40% :21.100, £:19,.800 21,30 0,800 22,20
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Bl B = e 37E STE 3TE STE
‘)ig EEE 21315 & EEE EEE B
R (CHHE) =88 HRCHEH |_JL453 [ 218 17.800 50% 18100 17.600 17.800
JL4s5 | 218 17,800 50% 18,100 17,600 17,800
JLas7 | 218 16,500 54% & 1:17.300 18100 17.900 17.900
JL459 | 218 16,500 54% 18,100 17,900 17,900
JLa61 | 218 17.800 50% 18100 18100 —
JL463 | 218 16,800 53% 19,200 18,100
JL465 | 218 16,800 53% |£:17.800. :16.100 19,200 18100
TS JLa52_| 218 17.300 51% 17.300 — 16,500 17.300
JLasa | 218 17.300 51% 17.300 16,500 17.300
JL456 | 21H 16,800 53% [@1:17.300 17,500 17.200 17.200
JL458 | 218 16,500 54% | £:16.800 16.800 18,100 17.500 —
JL460 | 218 16,500 54% 16,800 18,100
JLa62 | 218 17.800 50% 18,100 18,100
JL4ed | 218 17,800 50% 18,100 18,100
R CHE) =@k RRCRE)FE | _JL475 | 21H 17,000 52% 18,300
JL477_| 218 20,100 44% 20,600
JLa79 | 218 18,800 47% +:19.800 19.800
JL4gl | 218 17,000 52% |%:18,800, £:17.200 18,800
JL4s3 | 218 17,000 52% 18,800, £:17.200 18,800
JL4gs | 218 17,200 52% | %:18,800 21,500
JLag7 | 218 21,300 40% 2700, £:17.200 22,700
BFE JL474 | 218 17,200 52% |%1:18,500 20,000
JLa76 | 218 18,200 49% £:19.000 20,600
JL478 | 218 17,000 52% |%:18,600, 1 19,400 22,200
JL4s0 | 218 17,000 5% | £:18,600. 19,400 22,200
JL4g2_| 218 19,300 46% |%:18,600, 19,400 22,200
JLasd | 218 21,100 41% 22,200, 22,200 19400
JL4gs | 218 20,900 41% _[%:22,000, 1 22,000 18,900
R CHE) =/ RRCRE)FE |_JL491 | 21H 19,700 48% | #1:21,800 21,800 23,800
JL493 | 218 19,700 48% % 1:21,800 21,800 23,800
JL495 | 218 17,700 53% | £:20,700 21,300 24,800
JL497 | 218 19,700 48% [#:20,700, £:18,300 21,300 24,300
JLa99 | 218 21,800 42% | %:22,800, £:18.300 22,900 20,200
EEES JL490 | 218 20,700 45% & 1:21,800 21,800 28,000
JLa92 | 218 19,700 48% _|£:20.700. £:21.200 20,700 —
JL494 | 218 17,700 53% % 1:20,700 20,700 21,300
JL496 | 21H 20,200 46% | %:24,400, £:19.700 24,400 19.700
JL498 | 218 21,800 42% _[%:23,900, £:18,300 23,900 19,700
R (HH) =t RERCEE R [ JL431 218 18,200 52% 2 1:20,000 20,100 26,300
JL433 | 218 21,100 45% 21,100 —
JLa3s | 218 20,000 48% 20,600 20,100 25100
JL437 | 218 18,200 52% 120,000, £:20,600 22,700 22,100
JLa39 | 218 22,100 42% 24,200, +:20.600 24,300 21,600
JL443 | 218 22,100 42% [$:24.200, £:21,600 24,300 21,600
PYITES JL430 | 218 21,600 44% 21,800 27,900
JL432_| 218 22,600 41% _|[#1:24.200 24,200 —
JL43d4 | 218 18.200 52% |4 +:20,000 20,100 21,600
JL436 | 218 20,500 46% 119,500 21,100 21,100
JL438 | 218 21,100 45% 21,600, :19.500 22,200 19,600
JL440 | 218 20,000 48% |%:23,00, :19,500 23,200 19,600
BR(FHE) =AM RERCEE)FE [ JL37 218 20,100 54% 19.300 19,600 22,100
JL373_| 218 21,100 52% 1,600 21,500 22,600
JL375 | 21H 21,100 52% 21,600 21,500 22,100
JL377_| 218 22,600 48% |%:23,600, £:19,600 23,600 20,100
JL379 | 218 22,600 48% |%:23,200, £:19.600 23,200 20,100
FERMFE JL370 | 218 19,100 56% 19,100 20,100
JL372_| 218 21,900 50% 21,100 22,100
JL374_| 218 20,100 54% 20,100 20,100
JL376 | 21H 21,100 52% [%:23100, £:19.100 23,100 19,600
JL378 | 218 17,400 60% [%:22,100, £:17.000 21,100 17,100
RR(FH) =K% RRCHE)HE | JL661 218 22,700 46% :23,700, 1:21.600 23,700 26,700
JL663 | 218 22,700 46% % 1:23,200 23,200 26,700
JL665 | 21H 22,700 46% | %+:23.200 23,200 26.700
JL667 | 218 22,700 46% [%:23,700, £:23.200 23,700 25,300
JL669 | 21H 22,700 46% | %:23,700, £:23.200 23,700 25,300
JL671 | 218 21,100 50% |%:24.200, £:22,100 24,200 22,100
K55 JL662 | 21H 21,100 50% 21,600 26,600
JL664 | 218 23,700 44% 24,200 26,700
JL668 | 21H 21,100 50% 22,700 24,300
JL670 | 218 21,600 49% 22,700 24,300
JL672 | 21H 23,700 44% [%:24,200, £:21.600 24,200 24,300
JL674_| 218 23,200 45% _|%:23,800, T:21,600 23,800 23,800
RR(FH) =R RRE(EE) S [ Je05 [ 218 21,900 52% 2,400 21,900 28,700
JL3981 | 21H 22,900 50% 23,900 23,900 28,700
JL607 | 21H 22,000 52% |£:23,900. :23.400 23,900 28,700
JL609 | 21H 21,400 54% % 1:23,900 23,900 28,700
JL611 | 218 21,400 54% |£1:23.900 23,900 28,700
JL613 | 218 21,200 54% |£:23,900, 1:20,400 23,900 20,400
JL615 | 21H 20,400 56% 23,900 20,400
S JL606 | 21H 20,400 56% 20,90 28,400
JL608 | 21H 21,900 52% 22,60 28,000
JL3982 | 21H 20,400 56% 22,10 27,000
JL610 | 21H 20,400 56% . 22,10 24,600
JL612_| 218 23,400 49% | £:23,500 23,50 24,300
JL614_| 21H 23,400 49% | £:23,500 23,50 24,300
JL616 | 218 21,900 52% _|£:24,400, T:22,900 24,40 23,900
RR(FH) =& HR(EE) % [ J623 [ 218 21,500 51% 21,50 27,700
JL625 | 218 22,000 50% | :22,500 22,50 21,700
JL627 | 21H 22,000 50% | %:22,500 22,50 27,700
JL629 | 218 0400 53% | £:22,500 22,50 21,700
JL631 | 21H 9,900 54% |£:22,000, :20.400 22,00 22,600
JL633 | 218 9,900 54% | £:22,000 22,00 22,600
JL637 | 21H 0,400 53% |£:22,500, :19.900 22,50 21,200
JL639 | 21H 9,900 54% | £:22,500 23,50 19,900
AR JL622 | 21H 2,000 50% 22,00 26,700
JL624 | 21H 2,000 50% 22,00 27,200
JL626 | 21H 9900 54% |%1:20400 20,40 25,800
JL628 | 21H 9,900 54% % 1:20,400 20,40 22,700
JL630 | 21H 2,500 48% _|£:22,000, £:20.400 22,00 22,500
JL632 | 21H 2,500 48% :22,000, £:20,400 22,00 2,500
JL634 | 21H 2,500 48% _|£:23,000. £:20.400 23,00 1,900
JL638 | 21H 9,900 54% 23,00 9900
RR(FH) =25 RRE(EE) S [ Jes7 [ 218 0,400 53% 22,00 7,700
JL689 | 21H 22,900 47% 23,40 27,700
JL691 | 21H 22,900 47% 23,40 25,700
JL693 | 21H 22,100 49% 23,40 24,100
JL695 | 21H 22,400 49% 23,40 21,600
JL697 | 21H 20,400 53% 4 24,00 20,400
EEES JL688 | 21H 20,400 53% € 1:22,000 22,00 27,700
JL69%0 | 21H 22,500 48% 22,50 27,200
JL692 | 21H 21,100 52% [£:21,300 22,40 26,700
JL694 | 21H 21,100 52% |%:21,700, £:21,300 23500 | 25000
JL696 | 21H 23,500 46% _|£:24,500, :21.300 24,50 24,700
JL698 | 21H 23,500 46% _|£:24,500, £:21,300 24,50 23,100
RR(FHE) =ERE RRCEE)FE [ JLedl 218 20,400 56% 20,50 28,400
JL643 | 21HA1 | 22500 51% % 1:24,000 24,10 28,400
JL645 | 21HAT | 24.300 47% |£1:24.800 24,90 28,400
JL647 | 21HAI | 20400 56% | A:22,500, % 1:24,000 24,10 27,900
JL649 | 21HAT | 20400 56% :21,600 23,60 26,200
JL651 | 21HA1 | 20400 56% 23,60 23,200
JL653 | 21HAN | 22700 51% 24,10 20,900
JL655 1HE] 2,700 51% |£:23,000, £:20.400 24,10 20,400
ERBR JL640 1E#r 0,400 56% 20,50¢ 28,400
JL642 1HE] 1,400 54% |%:22.200, £:22.700 22,30 28,400
JL644 1HAE 1.400 54% 22,60 28,400
JL646 1HET | 20900 55% 22,60 27,900
JL648 1HA 2,000 52% 22,60 25,700
JL650 THET | 22800 51% 23,801 24,900
JL652 1HE | 22800 51% 24,10 22,800
JL654 THA | 51% 2,000 23,60 22,800
RR (BB =R EFFm) | RRGIE) R [ JL3049 | 21HFT 46% 6,600, 1:20,100 27,000 21,700
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ES) &% = =% S47E S47E 447E S47E 7E
%BE B e % B B B B
[ #L0% (¥ %) % | JL3040 | 21HET | 19.700 51% |4 1:20.800 23,400 26,300 22,000 | 22700
RE () =12k R (AL JL3057 | 21ER] | 22,900 47%  [K:23900, %:28,100, F:22.300 28,200 22,300 25,800 30400
EE3 JL3052 | 21HT | 20700 53% 20,700 28,900 21,000 | 22,000
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3/22-26 3/18 3/19 3/20 3/21
Bl B = e 37E STE 447E 3TE STE
‘)ﬁm EEE 5% & EEE EEE EEE EAE
KB () =BfE KRUF%E [ J2123 [ 218 22,000 52% & 1:23.300 26,400 35,100 22300 | 22.300
BRAESE JL2124 | 218 21,000 54% 23,600 22,700 23100 | 23,600
KR () =&/ RERFFE [_JL2151 [ 218 21,400 51% 2,700, +:23.300 22,700 — 20900 | 21.400
JL2153 | 21H 19,700 55% % 1:22,700 22,700 22,900 21,200 | 21,400
JL2157 | 218 20,000 54% 3,200 23,200 21,400 22,700 —
EHRE JL2152 | 218 20,000 54% |£1:22.400 22,400 — 21,900 | 22,900
JL2154 | 21H 19,700 55% :23,300, +:20.900 23,300 22,900 23300 | 23.300
JL2158 | 21H 21,400 51% |%:23300, £:20,000 23,300 21,900 23,300 ——
KR (FF) =FkE KREFE [ J2171 [ 218 19,300 51% :20,600, +:21.200 22,100 — 19.400
JL2173 | 218 17,900 55% |4 1:20,600 22,100 20,600 19,400
JL2179 | 218 19,100 52% | £:20,600 22,800 19,100 20,600
HERE JL2172 | 218 19,100 52% |%1:20.300 21,300 — 20,200
JL2174 | 218 17,900 55% 21,200, £:18.800 21,300 21,400 21,200
JL2176 | 21H 19,300 51% [%:21,200, £:18,800 22,100 19,900 22,100
KB (A =1L& RER(FAF | _JL2201 | 21H 15,000 59% 19,100 15,500
JL2203 | 21H 16,500 55% 4 20,200 15,500
JL2205 | 21H 16,500 55% 20,200 15,500
JL2207 | 21H 17,500 53% 4 20,200 18,300
JL2209 | 218 16,500 55% |£:17.500, £:18.600 17.500 19,600
JL2211 | 218 19,100 48% [#:21,700, £:18,600 21,700 20,700
JL2213 | 218 18,600 50% _|£:20,700. £:17.500 20,700 19,600
[IESE JL2200 | 218 17,600 52% |%1:18,100 18,100 18,100
JL2202 | 218 17,600 52% £:18.100 18100 18100
JL2204 | 21H 18,600 50% [%:19,100, £:19.600 19,100 — 18,600
JL2206 | 21H 18,600 50% |©1:19,100 19,100 19,100 18,600
JL2208 | 21H 18,600 50% % 1:19,100 19,100 19,100 18,600 ——
JL2210 | 218 17,000 54% |£:21,200, :18.100 21,200 18,100 20,700
JL2212 | 21H 15,000 59% |%:20,700, £:15.900 20,700 16,300 19,100
KR () =318 KR(FHE [ J2241 [ 218 15.100 57% |£:15.700. £:16.700 15700 — 15700 15700
JL2243 | 21H 16,000 54% % 1:17,700 17.800 — 15,700
JL2247 | 218 16.700 52% [%:17.700 17.800 17.300 18,200
JL2251 | 21H 17,900 49% _[#:19,300, £:16.700 19,300 16,800 19,300
HBRR JL2240 | 21H 17.900 49% 18,700 17.900 17.900
JL2246 | 21H 16,700 52% |#1:18,200 18,200 - 17,200
JL2248 | 218 16,700 5% | :18.200 18,200 16,700 18,700
JL2250 | 21H 16,700 52% |%:18,800, £:15.700 18,800 16,200 18,700
KB (R FH) =#21l K (RFHF | _JL2301 218 11,000 49% 11,000 — 11,000
JL2305 | 21H 11,000 49% 11,000 11,000 11,000
JL2309 | 218 11,000 49% 11,000 11,000 11,000
PATIES JL2302 | 218 11,000 49% 11,000 — 11,000
JL2306 | 218 11,000 49% 11,000 11,000 11,000
JL2310 | 21H 13,600 37% 13,800 13,800 13,800
KR (B =K% KR (A% [ JL23e1 [ 218 15,600 35% 16.700 — 16.200
JL2365 | 21H 14,000 42% 16,700 16.700 16.700
JL2367 | 218 15.200 37% 16.700 15.700 16.800
K55 JL2362 | 21H 15,200 37% 16,300 — 15,800
JL2364 | 218 15,000 38%  [%:16.700 16.700 15.800 16.700
JL2366 | 21H 16,200 33% [%:16,700, £:15.000 16.700 15,800 16,700 —
KR () =R KR (A% [ U371 [ 218 18,100 42% 19.100 18,100 - 17.800 18,100
JL2373 | 21H 18,100 42% 9,100 18,100 - 17,800 18,100
JL2375 | 218 15.900 49% [%:16,900, £:17.900 18,300 17.900 17.800 —
JL2377 | 21H 17,400 44% | £:18,700 18,900 17,400 18,700 —
RIGF JL2372 | 218 17.400 4% [£1:18.100 18,100 — 17.400 17.400
JL2374 | 21H 15,900 49% % 1:16,900 16,900 16,900 17.400 ——
JL2376 | 218 15.900 49% 16.900 16.900 16.900 17.400 —
JL2378 | 21H 17,400 44% _[%:18,000, £:15,900 18,000 15,900 18,000 —
KR () =fe & KBR(EFHR | JL2383 [ 218 14,500 50% 115,300, 1:15.600 15,300 — 14,300 14,500
JL2385 | 21H 15,600 46% % 1:15,800 15,800 — 15,800 15,800
JL2389 | 21H 14,300 50% 115,300, £:14.300 15,300 14,700 15,800 —
A% JL2382 | 21H 15,000 48%  [£1:15.600 15,600 — 15,300 15,200
JL2386 | 218 15.300 47% 15,300 15.800 15,800 —
KR (B =215 KB (FH % | _JL2431 [ 218 15,500 46% 18,100 19.100 15,500 15,500
JL2433 | 218 18,100 37% 20,600 — 18,700 18,700
JL2437 | 21H 17,600 39% 20,600 17,900 20,100 ——
JL2441 | 218 17.600 39% 20,600 17.900 20,100
JL2443 | 21H 17,600 39% 20,600 17,600 20,100 —
ECES JL2430 | 21H 17,100 41% 18,900 17.900
JL2432 | 21H 17,100 41% 18,900 17,900
JL2434 | 218 17.900 38% 19,400 19,600
JL2438 | 21H 18,100 37% 20,400 20,500
JL2442 | 218 17.600 39% 20,400 20,500
AR (FFH=ERE KB (RFH % | _JL2401 [ 218 15,000 54% 16.500 15,000
JL2409 | 218 15,600 52% 17,500 17,000
JL2411 | 21H 14,900 54% 17,600 17,000
JL2415 | 218 14,900 54% 17600 17,000
JL2419 | 21H 15,600 52% 18,000 17,500
BERER JL2400 | 21H 14,400 56% 15,000 15,000
JL2402 | 21H 14,400 56% 15400 15400
JL2404 | 218 14,400 56% 15400 17,000
JL2406 | 21H 14,400 56% 15,400 17,00
JL2410 | 218 17.100 47% 17,600 17,60
JL2412 | 21H 16,100 50% 18,00 17,601
JL2414 | 218 16.100 50% [%:17.100 18,001 17.60 —
B HE (PED) =4LIR FFa)| BEE(hED R |_JL3103 | 218 22,300 50% _[:26,300, 1:26,.900 29,30 27,00 27,00
JL3105 | 218 22,500 49% |£1:24.600 28,60 25,90 25,900 |
JL3107 | 21H 22,500 49% % 1:24,600 28,60 25,90 25,90
JL3115 | 21H 19,700 56% |£:24,000, £:22.200 27,00 25,30 25,300 |
JL3117_| 21H 19,700 56% |:24,800, T:22,200 27,00 25,30 25,30
ALOR (BT Fa%) % [_JL3100 | 218 19,700 56% 22,20 22,80 22,80
JL3106 | 21H 20,900 53% 25,30 27,30 28,40
JL3110_| 21H 20,900 53% 26,201 27,30 30,00
JL3114_| 21H 2,300 50% : 27,20 29,70 20,801
JL3118 | 21H 2,800 49%  [:23,300, £:24,000, +:24.400 29,20 33,60 28,500 |
AEE UM =B AHEUNMOSE | J14333 | 218 5,800 49% % 1:16,300 16.70 14,80 15,80
HiBH JL4334 | 21H 5,000 52% 2:15,500 16.70 15,60 15,00
AEE (MO =REX AHECMOSE | J4341 | 218 6,800 52% | 1:19,000 19,90 — 18,60 18,60
JL4345 | 21H 6,800 52% 9,000 17,20 17.800 19,10 19,40
JL4347 | 21H 5,600 56% 118,400, £:16,700 18,70 17,800 19,90 —
23 JL4342 | 218 6,700 53% 7,800, £:17.300 18,00 — 18,10 18,100
JL4346 | 21H 7,300 51% :17.900 18,20 8,100 20,00
JL4348 | 21H 7,800 49% 5,600 18,10 7,500 21,20 ——
WIRGFFR) =FF FLOE (37 F%) % |_JL2803 [ 218 5,100 43% 15,10 6,700 16.20
JL2805 | 21H 5,100 43% 15,10 6,700 16.20
JL2809 | 21H 6,200 38% 16,60 6,600 18,60 —
AR JL2804 | 21H 6,200 38% |£1:17.300 17.60 — 16.20 16.200
JL2806 | 21H 5100 43% 15,10 16,200 18,601 18,600
JL2810 | 21H 5,100 43% 15,10 16,200 18,60 18,600




r 21 3A18H~26
EEBAR 2015/11/20  ~
3/22-26 3/18 3/20 3/21
R B4 = S47E S7E S47E 447E
B B13% % B B B
ALIR (FF ) =HE #LIR (FF3%) 5 |_JL2821 16,200 46% 16.200 17.000 17.000
JL2827 17,200 43% 18,800 19,800 ——
EF JL2822 17,200 43%  [£1:18.300 18.900 18,600
JL2828 16,200 46% 17,200 17,000
#FiR=HLIR (B Tm%) e JL2871 19,800 44% % 1:21,900 22,700 19,600
JL2873 19,800 4% [£1:21.900 22,700 19,600
JL2877 19,800 44%  [£1:21.900 22,700 19,600
ALIR B F#%) % L2872 18,300 49% 18,300 21,400
JL2874 18,300 49% 18.300 21,400
JL2876 18,300 49% 18,300 21,400
WA =#LI% FrF %) (=3 JL2901 19,200 44% | % +:20,600 20,600 17.500
JL2903 19,000 45% |4 1:20400 20,400 17,000
JL2905 15,600 55% |£:17.300, :16.700 18,900 15700
JL2907 16,600 52% 200, %:19,700, £:16.200 20,100 18,000
JL2909 16,900 51% |A:17.100, #:19.800, F:19,300 20,300 17.500
ALOR (BT F %) 56 |_JL2900 15,500 55% | +:16,900 15,500 16.500
JL2902 16,100 53% £:17.700 17.700 16,500
JL2904 15,100 56% |%:17,300, £:17.000 17.300 17,400
JL2906 17.600 49% 19,100, £:17.000 19,100 20,300
JL2910 18,700 46% _[#:20,100, £:17.000 20,500 20,300 ——
RE=HIRFTFm) INEES JL3403 23,200 57% +:25.000 25,000 24,200 24,200
ALOR (BT %) 5 | JL3406 23,200 57% |&1:24200 24,200 25,400 26,400
[T ESEES JL3531 24,400 52% +:26.200 26,200 25,800 25,800
JL3537 24,200 53% 24,200 25800 | 25,800
&z JL3530 25,400 50% 25,400 25000 | 25400
JL3538 24,400 52% |%:27,000, £:25,300 27,000 27,000 ——
B =%8 JL3525 21,600 55% 23,800 21,600 | 21.600
FBH JL3524 21,600 556 | %:22,500 23,300 21,600 | 24100
B == EEEES JL3629 8,000 67% 8,000 8,000 8,000
JL3633 8,000 67% 8,000 8,000 8,000
JL3641 8,000 67% 8,000 8,000 8,000
EEES JL3620 8,000 67% 8,000 8,000 8,000
JL3630 8,000 67% 8,000 8,000 8,000
JL3634 8,000 67% 8,000 8,000 8,000




-l
r 2158(1/3/7 13E 3HA1H~3H3H
EEERE 2015/11/20 _ ~
3/1-3
5178 5170
. e TR ERE AP e TR Taae D09 g
HALIR 51 | P | BAME EEESR
ABx (BEFE) =448 (RH) ABx (B#) % | _NUooi 3HAI | 31400 | 18% 3EAI | 31,100 | 19%
NU005 3HAI | 31400 | 18% 3EAI | 31,100 | 19%
NU009 3EAI | 31400 | 18% 3EAI | 31,100 | 19%
SRR (RER) R NU002 3HAT | 31,400 [ 18% 3HAT | 31,100 [ 19%
NU004 3EAI | 31400 | 18% 3EAI | 31,100 | 19%
NU008 3HAI | 31400 | 18% 3EAI | 31,100 | 19%
12 =48 (A H) FEES NUO51 3HAT | 24,700 [ 20% 3HAT | 24100 [ 22%
NU053 3EAI | 24700 | 20% 3EBI | 24,100 | 22%
NU057 3EBI | 24700 | 20% 3EBI | 24,100 | 22%
NU061 3EAI | 24700 | 20% 3EBI | 24,100 | 22%
NU063 3EAI | 24700 | 20% 3EAI | 24,100 | 22%
NU065 3EBI | 24700 | 20% 3EBI | 24,100 | 22%
AR (RER) R NU050 3HAT | 24,700 [ 20% 3HAT | 24100 [ 22%
NU052 3EAI | 24700 | 20% 3EAI | 24,100 | 22%
NU054 3EAI | 24700 | 20% 3EAI | 24,100 | 22%
NU058 3EAI | 24700 | 20% 3EAI | 24,100 | 22%
NU060 3EAI | 24700 | 20% 3EAI | 24,100 | 22%
NU062 3EAI | 24700 | 20% 3EAI | 24,100 | 22%
RRCPR)=hiE RRCPA)H NUO071 3HAT | 41,500 [ 38% 3HAT | 39,500 [ 41%
NU073 3EAI | 41500 | 38% 3HAI | 39500 | 41%
RIEF NUO070 3EAI | 41500 | 38% 3EAI | 39500 | 41%
NU076 3HAI | 41500 | 38% 3EAI | 39500 | 41%
HRCPR) =% RECRA) NU021 3HAT | 41,200 [ 34% 7HAT | 39,100 [ 37%
EEES NU022 3HAT | 41,200 [ 34% 7HAT | 39100 [ 37%
KBz (B§TE) =R 1E ABR (BFE) % | NU083 3EAI | 38500 | 29% 3HAI | 36900 | 32%
AIEFE NU086 3EAI | 38500 | 29% 3HAI | 36900 | 32%
I =B (RER) INRFE NU037 3HAI | 33900 | 26% 7EBI | 30,800 | 33%
hiE (R E) NU036 3HAT | 33,900 [ 26% 7HRT | 30,800 [ 33%
£ E (P E) =i (&) ZHE(PE)FE | NU043 3HAT | 33,600 [ 22% 3HAT | 33,000 [ 24%
NU045 3HAI | 33600 | 22% 3EAI | 33000 | 24%
NU047 3HAI | 33600 | 22% 3EAI | 33000 | 24%
NU049 3EAI | 33600 | 22% 3EAI | 33000 | 24%
hiE (R E) NU042 3HAT | 33,600 [ 22% 3HAT | 33,000 [ 24%
NU044 3HAI | 33600 | 22% 3HAI | 33000 | 24%
NU046 3HAI | 33600 | 22% 3HAI | 33000 | 24%
NU048 3HAI | 33600 | 22% 3HAI | 33000 | 24%
el L= 448 (BRER) [EES NUO11 3HAI | 29700 | 23% 7EBI | 26500 | 31%
hiE (RE) NUO016 3HAT | 29,700 [ 23% 7HRT | 26500 [ 31%
R (RE) =FR1E R (R E) NU601 A H 9,000 65% 3ERI 8,000 69%
NU605 B E 9500 | 63% 3EAI | 8500 | 67%
NU607 B E 9500 | 63% 3HAI | 8500 | 67%
NU609 B E 9,500 | 63% 3EAI | 8500 | 67%
NU613 Bl 9,000 | 65% 3HAI | 8000 | 69%
NU617 Bl 9,000 | 65% 3HAI | 8000 | 69%
RAC705 B E 9000 | 65% 3HAI | 8000 | 69%
NU621 B E 9200 | 64% 3HAI | 8200 | 68%
NU625 Bl 9,000 | 65% 3HAI | 8000 | 69%
REH NU600 Bl 9,000 | 65% 3HAI | 8000 | 69%
NU608 Bl 9,000 | 65% 3HAI | 8000 | 69%
NU610 Bl 9,200 | 64% 3HAI | 8200 | 68%
NU612 B E 9200 | 64% 3HAI | 8200 | 68%
NU614 B E 9500 | 63% 3E AT 8,500 | 67%
NU618 B E 9,500 | 63% 3E AT 8,500 | 67%
NU622 Bl 9,500 | 63% 3HBI | 8500 | 67%
NU626 Bl 9,200 | 64% 3EAT 8,200 | 68%
RAC708 BB 9200 | 64% 3EAT 8,200 | 68%
HEE) =24 EEEE FES NU551 EilE 9,200 53% 3ERI 7.800 60%
RAC801 Bl 9,900 | 49% 3EAT 8,000 | 59%
NU557 Bl 8,900 | 55% 3E AT 7,900 | 60%
NU559 Bl 8,900 | 55% 3HBI | 7900 | 60%
NU565 Bl 8,500 | 57% 3E AT 7,500 | 62%
NU567 BB 8500 | 57% 3EAT 7,500 | 62%
NU571 BB 8500 | 57% 3EBI | 7500 | 62%
NU573 B E 8,500 | 57% 3EAT 7,500 | 62%
EEES NU552 il 9,200 53% 3HAM 7.800 60%
NU556 Bl 9,200 | 53% 3HAI | 7,800 | 60%
NU558 BB 8500 | 57% 3E AT 7,500 | 62%
NU560 BB 8500 | 57% 3E AT 7,500 | 62%
NU564 Bl 8,900 | 55% 3HBI | 7900 | 60%
NU566 Bl 8,900 | 55% 3E AT 7,900 | 60%
NU572 Bl 8,900 | 55% 3E AT 7,900 | 60%
RAC804 BB 8500 | 57% 3EBI | 7500 | 62%
BEhH=HhiE RS RAC833 3HAT | 10,200 [ 24% THA 9,900 26%
RAC837 BiE 8,800 | 34% BiE 8,300 | 38%
AiEH RAC834 BiE 8,800 | 34% BiE 8,300 | 38%
RAC838 3HBI | 10200 | 24% 7HBI | 9900 | 26%
B =AXES R (RF % [ RACSTI 7Bl 8,800 27% THAT 8,700 28%
RAC873 7E AT 8,800 | 27% 7EBI | 8700 | 28%
RAC875 7E AT 8,800 | 27% IEEE 8,700 | 28%
NU211 7E &l 8,800 | 27% 7B &l 8,700 | 28%
RAC879 7EBI | 8800 | 27% 7EBI | 8700 | 28%
RAC881 7E &l 8,800 | 27% 7E &l 8,700 | 28%
RAC883 7E &l 8,800 | 27% 7E AT 8,700 | 28%
AREFE RAC872 7Bl 8,800 27% 7Bl 8,700 28%
RAC874 7E AT 8,800 | 27% 7E &l 8,700 | 28%
RAC876 7E AT 8,800 | 27% 7E &l 8,700 | 28%
NU212 7HBI | 8800 | 27% 7EBI | 8700 | 28%
RAC880 7E &l 8,800 | 27% 7E &l 8,700 | 28%
RAC882 7B 8,800 | 27% 7Bl 8,700 | 28%
RAC884 7EBI | 8800 | 27% 7EBI | 8700 | 28%
B (B =5 B (FRE) & | RACS1T — — — — — — — — —
RAC813 — — — — — — — — —
RAC817 — — — — — — — — —
RAC815 | 7HAI | 11950 | 25% — — — — — —
RAC819 — — — — — — — — —
Em% RAC812 — — — — — — — — —
RAC814 — — — — — — — — —
RAC818 — — — — — — — — —
RAC816 | 7H®I | 11950 | 25% — — — — — —
RAC820 — — — — — — — — —
B (RE) =BEKRE P#E(IBFR)F | RAC853 | 7HHT | 19.650 [ 25% — — — — — —
BEASR RAC854 | 7HAI | 19650 | 25% — — — — — —
R =5E SP#B(FREE)FE | RACT21 | 3HAET | 19500 | 40% 3HAT | 19,400 [ 40% 7HAT | 19,300 [ 41%
EER RAC724 | 3HB] | 19500 | 40% SEBT | 19400 [ 40% JHBT | 19300 [ 41%

JTA/RAC



JTA/RAC

EE#EAE 2015/11/20 _ ~
3/4-10
3{TA 3178 447C
XM E4 > = >
FH | megm | E—VH FH | megm | E—VH FH | megm | E—7H
mAmE | TR gmin kil pame EEE g BF | popm TEE gpm W%
K (RAF8) = ih#8 (IR E) ARR(BAF)F | NUoo1 | 3HET | 36200 1% 3HAT | 35900 12% 3EBT | 35600 13%
NU005 | 3HAT | 36,200 1% 3EAI | 35900 12% 3HAI | 35,600 13%
NU009 | 3HRT | 36,200 1% 3HAT | 35900 12% 3EAT | 35600 13%
SR#B(REF | NUo02 | 3HET | 36200 1% 3HAI | 35900 12% 3HAI | 35,600 13%
NU004 | 3HRT | 36,200 1% 3HAT | 35900 12% 3EBT | 35600 13%
NU008 | 3HAT | 36,200 1% 3EAI | 35900 12% 3HAI | 35,600 13%
e = P48 IR E) FEES NU051 | 3HRT | 29,100 12% 3EAT | 28800 13% 3EBT | 28,500 14%
NU053 | 3HAT | 29,100 12% 3EAT | 28,800 13% 3EAT | 28500 14%
NU057 | 3HRT | 29,100 12% 3EAT | 28800 13% 3EBT | 28,500 14%
NU061 3EAI | 29,100 12% 3EEI | 28,800 13% 3HEAI | 28,500 14%
NU063 | 3HRT | 29,100 12% 3EAT | 28800 13% 3EBT | 28,500 14%
NU065 | 3HRI | 29,100 12% 3EFI | 28,800 13% 3EAI | 28,500 14%
Sh#B(REFE | NU0S0 | 3HAET | 29,100 12% 3EAT | 28800 13% 3EBT | 28,500 14%
NU052 | 3HRI | 29,100 12% 3EFI | 28,800 13% 3EAI | 28,500 14%
NU054 | 3HAT | 29,100 12% 3EAT | 28800 13% 3EBT | 28,500 14%
NU058 | 3HRI | 29,100 12% 3EFI | 28,800 13% 3EAI | 28,500 14%
NU060 | 3HRT | 29,100 12% 3EAT | 28800 13% 3EBT | 28,500 14%
NU062 | 3HRI | 29,100 12% 3EFI | 28,800 13% 3EAI | 28,500 14%
RRCPA) =R\ RRCPE)H | NU071I | 3H#T | 60200 13% 3HAT | 59,900 13% 3EBT | 59,600 13%
NU073 3HAI | 60,200 13% 3HAT | 59.900 13% 3HAI | 59,600 13%
RiEH NU070 | 3HAT | 60,200 13% 3HAT | 59,900 13% 3EAT | 59,600 13%
NUO76 | 3HE] | 60.200 13% 3EAT | 59,900 13% 3HE] | 59,600 13%
R (HE) =85 RS CHE)®E | NU021 | — — [ — — — [ — — — [ —
EERE NU022 — — — — — — — — —
K (BFE) =R KW (BAFE) % | NU0S3 49,500 13% 3EAT | 49,200 13% 3EAT | 48,900 14%
A% NU086 49,500 13% 3EEI | 49,200 13% 3EBI | 48,900 14%
TN = (A ) AR NU037 — [ — — — [ — — — [ —
iR (IRE) NU036 — — — — — — — —
REE (PR =P GBEH) | /EE(PE R [_NU043 40,500 12% 3HA] | 40,200 12% 3EAT | 39,900 13%
NU045 40,500 12% 3EBI | 40,200 12% 3EBEI | 39,900 13%
NU047 40,500 12% 3HA] | 40,200 12% 3EAT | 39,900 13%
NU049 40,500 12% 3EBI | 40,200 12% 3EBI | 39,900 13%
SREB (B F | _NU042 40,500 12% 3HA] | 40,200 12% 3EAT | 39,900 13%
NU044 40,500 12% 3EBI | 40,200 12% 3EBI | 39,900 13%
NU046 40,500 12% 3HAT | 40,200 12% 3EAT | 39,900 13%
NU048 40,500 12% 3EBI | 40,200 12% 3EBT | 39,900 13%
FEl 1L = 48 GIRER) i L1 5 NUO11 — — — — — — — —
FHRE)FE | NUOT6 — | — — — | — — — | —
B (B =R (B & | _NU601 10400 | 62% L= 9,200 66% 3EAT | 8.200 70%
NU605 11,500 | 58% B H 9,700 64% 3EE] | 8700 68%
NU607 11,500 | 58% = 9,700 64% 3EAT | 8700 68%
NU609 11,500 | 58% B H 9,700 64% 3EE | 8700 68%
NU613 10400 | 62% = 9,200 66% 3EAT | 8.200 70%
NU617 10,400 | 62% B H 9,200 66% 3HA] | 8200 70%
RAC705 10,400 | 62% B E 9,200 66% 3EAT | 8.200 70%
NU621 10,400 | 62% =] 9,400 65% |H:0700 | 3HE] | 8400 69% | H:8,700
NU625 10,400 | 62% B E 9,200 66% 3EAT | 8.200 70%
RIEF NU600 10,400 | 62% BIE 9,200 66% 3EE | 8200 70%
NU608 10,400 | 62% B E 9,200 66% 3EAT | 8.200 70%
NU610 10,400 | 62% BIE 9,400 65% |[H:9700 | 3HEl | 8400 69% | F:8,700
NU612 10,400 | 62% B Bl 9,400 65% [/:9700 | 3HAET | 8400 69% | F:8.700
NU614 11,500 | 58% Bl B 9,700 64% 3EE | 8700 68%
NU618 11,500 | 58% B B 9,700 64% 3EAI | 8700 68%
NU622 11,500 | 58% Bl B 9,700 64% 3HA] | 8700 68%
NU626 10,400 | 62% BiE 9,400 65% |£:9700 | 3HAT | 8400 69% | %::8,700
RAC708 10,400 | 62% =] 9,400 65% |£:9700 | 3HE] | 8400 69% | £:8700
HERE) ==h i (RE) & | _NU551 10,500 | 50% BiE 9,400 55% 3ERT__| 8000 62%
RAC801 11,200 | 46% B8 10,100 | 52% 3EE | 8200 61%
NU557 10,400 | 50% BiE 9,100 56% 3EAI | 8100 61%
NU559 10,400 | 50% BIE 9,100 56% 3HE | 8100 61%
NU565 9,900 53% BiE 8,700 58% 3EEI | 7.700 63%
NU567 9,900 53% BIE 8,700 58% 3HAT | 7,700 63%
NU571 9,900 53% BiE 8,700 58% 3EAI | 7.700 63%
NU573 9,900 53% =] 8,700 58% 3HAT | 7,700 63%
BEES NU552 10,500 | 50% BiE 9,400 55% 3EAI | 8000 62%
NU556 10,500 | 50% B8 9,400 55% 3HA] | 8000 62%
NU558 9,900 53% BiE 8,700 58% 3EAI | 7.700 63%
NU560 9,900 53% =] 8,700 58% 3HAT | 7,700 63%
NU564 10,400 | 50% BiE 9,100 56% 3EAT | 8100 61%
NU566 10,400 | 50% B8 9,100 56% 3HA] | 8100 61%
NU572 10,400 | 50% BiE 9,100 56% 3EAT | 8100 61%
RAC804 9,900 53% B8 8,700 58% 3HA] | 7,700 63%
BEha=FRiE EHHE RAC833 -— -— — — — — -— -—
RAC837 10,400 | 25% B1H 9,400 8,800
REX RAC834 10,400 BT E 9,400 8,800
RAC838 — — — —
PR =ARE (B E | RACST1 — —
RAC873 — — — — —
RAC875 — —
NU211 — —
RAC879 — —
RAC881 — —
RAC883 — —
AREHR RAC872 p— p—
RAC874 — — —
RAC876 — —
NU212 — —
RAC880 — —
RAC882 — — —
RAC884 — —
R RB) =5 (B E | RACSIT 3/4,3/6.3/8-10:& (K — —
RAC813 3/4,3/6,3/9-10:& K — —
RAC817 3/6.3/8- 105tk — — —
RAC815 — —
RAC819 3/4,3/6,3/8-10:8{K — —
EE 3 RAC812 3/4.3/6,3/8-10:8 K —- —-
RAC814 3/4,3/6,3/9-10:8 K — — —
RAC818 3/6,3/8-10:&{K — —
RAC816 — —
RAC820 3/4,3/6,3/8-10:& K — —
R (RB) =EEXE SR (B % | RACS53 — —
BEASH RAC854 p— —
BRI E) = 5 ME P8 (FRE) % | RACT21 — p—
EMEH RACT724 — — — — — — — — —
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EEERAA 2015/11/20  ~
3/11-17
34TA 347B 347°C
e il 2 e R R p—— ) N e B e—— - R
AR | T mmik P magle T zpik " AR | TN msiE R
KBx (BA7E) =8 (&) PNUAGESES NUOO1 SHEI | 36,200 11% 3ERAI | 35900 12% 3HBAI | 35600 13%
NU005 SHAI | 36,200 11% 3EAI | 35900 12% 3HBAI | 35600 13%
NU009 3HAI | 36,200 11% 3EAI | 35900 12% 3HBAI | 35600 13%
bR (&) R NU002 3HAI | 36,200 11% 3ERAI | 35900 12% 3HBAI | 35600 13%
NUoo4 | 3HET | 36,200 11% 3EAI | 35900 12% 3HBAI | 35600 13%
NU008 SHAI | 36,200 11% 3EAI | 35900 12% 3HBAI | 35600 13%
1B =185 EER NUO51 3EE] | 29,100 12% 3EBI | 28800 13% SHAI | 28500 14%
NU053 3EE] | 29,100 12% 3ERAI | 28800 13% SHBAI | 28500 14%
NU057 3EE] | 29,100 12% 3HBI | 28800 13% SHBAI | 28500 14%
NU061 3EEI | 29,100 12% 3EBI | 283800 13% SHBAI | 28500 14%
NU063 3EE] | 29,100 12% 3EBIT | 28800 13% SHBAI | 28500 14%
NU065 3EE] | 29,100 12% 3EBI | 283800 13% 3HBAI | 28500 14%
AR (&) R NUO50 | 3HET | 29,100 12% 3HAI | 28,800 13% 3EEI | 28500 14%
NU052 3EEI | 29,100 12% 3EBI | 28800 13% SHBAI | 28500 14%
NU054 | 3HET | 29,100 12% 3EBIT | 283800 13% 3HBAI | 28500 14%
NU058 3HEI_ | 29,100 12% 3HAI__ 28,800 13% 3HBI_| 28500 14%
NUO60 | 3HET | 29,100 12% 3HAI___ 28,800 13% 3HBI_| 28500 14%
NU062 3HEI_ | 29,100 12% 3HAI | 28,800 13% 3HBI_| 28500 14%
HRCPA) =R\ =R CRE) % NUO71 3HAT__| 60,200 13% 3HAT__| 59,900 13% 3EBI | 59,600 13%
NU073 3HBI__| 60,200 13% 3HEAI | 59.900 13% 3HBEI | 59,600 13%
RiEH NU070 3HAT | 60,200 13% 3HAI | 59.900 13% 3HAT | 59,600 13%
NU076 3HEI__| 60,200 13% 3HEAI | 59.900 13% 3HBEI | 59,600 13%
BRREPA) =% RECHE)F NU021 — -— — -— — — — — —
EHRE NU022 — — — — — — — — —
AR (BE#E) =R1E ABR (BA7E) % NU083 3EEI | 49,500 13% 3EBI | 49200 13% SHBAI | 48,900 14%
AEH NU086 3EEI | 49,500 13% 3HAI | 49,200 13% 3EEI | 48,900 14%
N =R (IR ER) INAFE NU037 — = — — - — — - -—
i (BRER) NU036 — -— — -— — e — — -—
ZHE (PED) =ih#E (&) ZHE(PE)H | NU043 3HAI | 40,500 12% 3HBI__| 40200 12% 3HAI | 39,900 13%
NU045 3HEI__| 40,500 12% 3HAI | 40,200 12% SHBAI | 39,900 13%
NU047 3HAT | 40,500 12% 3HRI | 40,200 12% 3HAT | 39,900 13%
NU049 3HEI__| 40,500 12% 3HAI 40,200 12% SHAI | 39,900 13%
ShiE (&) R NU042 3HEI_| 40,500 12% 3HAI 40,200 12% SHBAI | 39,900 13%
NUO44 | 3HET | 40,500 12% 3HAI 40,200 12% SHBAI | 39,900 13%
NU046 3HEI__| 40,500 12% 3HAI | 40,200 12% SHBAI | 39,900 13%
NU048 3HEI__| 40,500 12% 3HAI | 40,200 12% SHBAI | 39,900 13%
f LI = 8 () L NUOT 1 — — — — — — — — —
(B % | NU0T6 | —— — — — — — — — —
iR (V) = Aa e ES NU601 B E 10,400 62% B E 9,200 66% 3HEI 8,200 70%
NU605 izl 11,500 58% B E 9,700 64% 3HEI 8,700 68%
NU607 fil=] 11,500 58% B E 9,700 64% RIEE:] 8,700 68%
NU609 B E 11,500 58% B E 9,700 64% 3HEI 8,700 68%
NU613 B E 10,400 62% B E 9,200 66% 3HEI 8,200 70%
NU617 fil=] 10,400 62% B E 9,200 66% 3HEI 8,200 70%
RAC705 BB 10,400 62% B E 9,200 66% 3HEI 8,200 70%
NU621 fil=] 10,400 62% B E 9,400 65% | H:.9,700 3HEI 8,400 69% | H:8,700
NU625 fil=] 10,400 62% B E 9,200 66% 3HEI 8,200 70%
RiEH NU600 A E 10,400 62% B E 9,200 66% 3HEI 8,200 70%
NU608 fil=] 10,400 62% B E 9,200 66% 3HEI 8,200 70%
NU610 B E 10,400 62% B E 9,400 65% | H:9,700 3HEI 8,400 69% | H:8,700
NU612 [zl 10,400 62% B E 9,400 65% | H:9,700 3HEI 8,400 69% | H:8,700
NU614 fil=] 11,500 58% B E 9,700 64% 3HEI 8,700 68%
NU618 [il=] 11,500 58% B E 9,700 64% 3HEI 8,700 68%
NU622 fil=] 11,500 58% B E 9,700 64% 3HEI 8,700 68%
NU626 =] 10,400 62% B E 9,400 65% 29,700 3HEI 8,400 69% |4:8,700
RAC708 [zl 10,400 62% B E 9,400 65% 29,700 3HEI 8,400 69% | £:8,700
R (B =20 hiE (&) % NU551 [zl 10,500 50% B E 9,400 55% 3HEI 8,000 62%
RAC801 [il=] 11,200 46% B E 10,100 52% 3HEI 8,200 61%
NU557 [zl 10,400 50% B E 9,100 56% 3HEI 8,100 61%
NU559 izl 10,400 50% B E 9,100 56% 3EEI 8,100 61%
NU565 [zl 9,900 53% B E 8,700 58% 3HEI 7,700 63%
NU567 [zl 9,900 53% B E 8,700 58% 3EEI 7,700 63%
NU571 [zl 9,900 53% B E 8,700 58% 3HEI 7,700 63%
NU573 fil=] 9,900 53% B E 8,700 58% 3HEI 7,700 63%
BEHRE NU552 [zl 10,500 50% B E 9,400 55% 3HEI 8,000 62%
NU556 izl 10,500 50% B E 9,400 55% 3EEI 8,000 62%
NU558 fil=] 9,900 53% B E 8,700 58% 3EEI 7,700 63%
NU560 =] 9,900 53% B E 8,700 58% 3EEI 7,700 63%
NU564 =] 10,400 50% B E 9,100 56% 3HEI 8,100 61%
NU566 [zl 10,400 50% B E 9,100 56% 3EEI 8,100 61%
NU572 =] 10,400 50% BIE 9,100 56% 3HEI 8,100 61%
RAC804 | BIH 9,900 53% B E 8,700 58% 3EEI 7,700 63%
Ea=faE BEER RAC833 | — — — — — — — — —
RAC837 =] 10,700 23% B E 9,700 30% BB 9,100 35%
RIEH RAC834 | BiIH 10,700 23% B E 9,700 30% =] 9,100 35%
RAC838 — — — — — — — — —
SR (B =AXKE SRR (ARER) $ | RACSTI — — — — — — — — —
RAC873 — — — — — — — — —
RAC875 — — — — — — — — —
NU211 — — — — — — — — —
RAC879 — — — — — — — — —
RAC881 — — — — — — — — —
RAC883 — — — — — — — — —
AKEHR RAC872 — — — — — — — — —
RAC874 — — — — — — — — —
RAC876 — — — — — — — — —
NU212 — — — — — — — — —
RAGC880 — — — — — — — — —
RAC882 — — — — — — — — —
RAC884 — — — — — — — — —
R (B =5 SRR (ARER) % | RACSII — — — — — — — — —
RAGC813 — — — — — — — — —
RAGC817 — — — — — — — — —
RAGC815 — — — — — — — — —
RAC819 — — — — — — — — —
E&% RAC812 — — — — — — — — —
RAGC814 — — — — — — — — —
RAC818 — — — — — — — — —
RAC816 — — — — — — — — —
RAC820 — — — — — — — — —
AR () =EEKS SR (ARER) % | RAC853 — — — — — — — — —
BERER RAC854 — — — — — — — — —
SR (B =5HE iR (AR % | RACT21 — — — — — — — — —
SMEH RAC724 — — — — — — — —— —
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3/23-26
34TA 347B 447°C
e el 2 e R R — R R T R pe— ) R "
AR | TN mmik P mamle T msiE " AR | T zpk | W

KR (B87E) =ih#E (FRER) PNUAGESES NUOO1 SHEI | 36,200 11% 3ERAI | 35900 12% 3HBAI | 35600 13%
NU005 SHAI | 36,200 11% 3EAI | 35900 12% 3HBAI | 35600 13%
NU009 3HAI | 36,200 11% 3EAI | 35900 12% 3HBAI | 35600 13%
bR (&) R NU002 3HAI | 36,200 11% 3ERAI | 35900 12% 3HBAI | 35600 13%
NU004 | 3HEI | 36,200 11% 3EAI | 35900 12% 3HBAI | 35600 13%
NU008 SHAI | 36,200 11% 3HAT | 35900 12% 3HAT | 35,600 13%
1B =185 EER NUO51 3EE] | 29,100 12% 3EBI | 28800 13% SHAI | 28500 14%
NU053 3EE] | 29,100 12% 3ERAI | 28800 13% SHBAI | 28500 14%
NU057 3EE] | 29,100 12% 3HBI | 28800 13% SHBAI | 28500 14%
NU061 3EEI | 29,100 12% 3EBI | 283800 13% SHBAI | 28500 14%
NU063 3EE] | 29,100 12% 3EBIT | 28800 13% SHBAI | 28500 14%
NU065 3EE] | 29,100 12% 3EBI | 283800 13% 3HBAI | 28500 14%
AR (&) R NU050 | 3HET | 29,100 12% 3HAI | 28,800 13% 3HAI | 28,500 14%
NU052 3EEI | 29,100 12% 3EBI | 28800 13% SHBAI | 28500 14%
NU054 | 3HET | 29,100 12% 3EBIT | 283800 13% 3HBAI | 28500 14%
NU058 3HBT_| 29,100 12% 3HAT | 28,800 13% 3HBI_| 28500 14%
NU0O60 | 3HEI | 29,100 12% 3HAI___ 28,800 13% 3HBI_| 28500 14%
NU062 3HAT | 29,100 12% 3HAI | 28,800 13% 3HBI_| 28500 14%
HRCPA) =R\ =R CRE) % NUO71 3HAT__| 60,200 13% 3EBI | 59,900 13% 3EBI | 59,600 13%
NU073 3HBI__| 60,200 13% 3HEAI | 59.900 13% 3HBEI | 59,600 13%
RiEH NU070 3HAT | 60,200 13% 3HAI | 59.900 13% 3HAT | 59,600 13%
NU076 3HEI__| 60,200 13% 3HEAI | 59.900 13% 3HBEI | 59,600 13%
BRREPA) =% RECHE)F NU021 — -— — -— — — — — —
EHRE NU022 — — — — ——— — — — —
AR (BE#E) =R1E ABR (BA7E) % NU083 3EEI | 49,500 13% 3EBI | 49200 13% SHBAI | 48,900 14%
AEH NU086 3EEI | 49,500 13% 3HAI | 49,200 13% 3HAI | 48,900 14%
N =R (IR ER) INAFE NU037 — = — — - — — - -—
i (BRER) NU036 — -— — -— — e — — -—
ZHE (PED) =ih#E (&) ZHE(PE)H | NU043 3HAI | 40,500 12% 3HBI__| 40200 12% 3HAI | 39,900 13%
NU045 3HEI__| 40,500 12% 3HAI | 40,200 12% 3HAT | 39,900 13%
NU047 3HAT | 40,500 12% 3HRI | 40,200 12% 3HAT | 39,900 13%
NU049 3HEI__| 40,500 12% 3HAI 40,200 12% 3HAT | 39,900 13%
EEEIES NU042 3HEI_| 40,500 12% 3HAI 40,200 12% 3HAT | 39,900 13%
NUO44 | 3HET | 40,500 12% 3HAI 40,200 12% 3HAT | 39,900 13%
NU046 3HEI__| 40,500 12% 3HAI | 40,200 12% 3HAT | 39,900 13%
NU048 3HEI__| 40,500 12% 3HAI | 40,200 12% 3HAT | 39,900 13%
f LI = 8 () L NUOT 1 — — — — — — — — —
(B % | NU0T6 | —— — — — — — — — —
R () =R1E EEEF RS NU601 =] 10,400 62% BIH 9,500 65% 3HAT 8,500 69%
NU605 BIE 11,500 58% BIE 10,000 63% RIEE:] 8,900 67%
NU607 BIE 11,500 58% B E 10,000 63% RIEE:] 8,900 67%
NU609 BIE 11,500 58% BIE 10,000 63% RIEE:] 8,900 67%
NU613 =] 10,400 62% BIH 9,500 65% 1=K 8,500 69%
NU617 fil=] 10,400 62% B E 9,500 65% RIEE:] 8,500 69%
RAC705 =] 10,400 62% Eii=] 9,500 65% RIEET 8,500 69%
NU621 fil=] 10,400 62% BIH 9,700 64% 3HAT 8,700 68%
NU625 =] 10,400 62% B E 9,500 65% 3EE 8,500 69%
RIER NU600 =] 10,400 62% Eii=] 9,500 65% RIEET 8,500 69%
NU608 BIE 10,400 62% Ei1=] 9,500 65% 3HAT 8,500 69%
NU610 =] 10,400 62% BIH 9,700 64% 3HAT 8,700 68%
NU612 fil=] 10,400 62% BIH 9,700 64% 3HAT 8,700 68%
NU614 izl 11,500 58% B E 10,000 63% 3HEI 8,900 67%
NU618 BIE 11,500 58% B E 10,000 63% RIEE:] 8,900 67%
NU622 =] 11,500 58% B E 10,000 63% 3HAT 8,900 67%

NU626 BIE 10,400 62% B E 9,700 64% | £:10000 | 3HAI 8,700 68% |4:9,000

RAC708 [il=] 10,400 62% B E 9,700 64% | £:10000 | 3HEI 8,700 68% | £:9,000
R (B =20 EE T IES NU551 [zl 10,500 50% B E 9,900 53% 3EEI 8,300 60%
RAC801 [zl 11,200 46% B E 10,200 51% 3HEI 8,500 59%
NU557 [zl 10,400 50% B E 9,400 55% 3HEI 8,400 60%
NU559 [zl 10,400 50% BIE 9,400 55% 3HEI 8,400 60%
NU565 [zl 9,900 53% B E 9,000 57% 3EEI 8,000 62%
NU567 [zl 9,900 53% B E 9,000 57% 3EEI 8,000 62%
NU571 [zl 9,900 53% B E 9,000 57% 3HEI 8,000 62%
NU573 fil=] 9,900 53% B E 9,000 57% 3EEI 8,000 62%
BEHR NU552 fil=] 10,500 50% B E 9,900 53% 3EEI 8,300 60%
NU556 [zl 10,500 50% BIE 9,900 53% 3HEI 8,300 60%
NU558 [zl 9,900 53% B E 9,000 57% 3EEI 8,000 62%
NU560 =] 9,900 53% B E 9,000 57% 3EEI 8,000 62%
NU564 =] 10,400 50% B E 9,400 55% 3EEI 8,400 60%
NU566 [zl 10,400 50% B E 9,400 55% 3EEI 8,400 60%
NU572 [zl 10,400 50% BIE 9,400 55% 3EEI 8,400 60%
RAC804 | BiIH 9,900 53% B E 9,000 57% 3EEI 8,000 62%
Ea=haE BEER RAC833 | — — — — — — — — —
RAC837 =] 10,700 23% B E 9,700 30% =] 9,100 35%
RIEH RAC834 | BiIH 10,700 23% B E 9,700 30% =] 9,100 35%
RAC838 — — — — — — — — —
SR (B =AXKS SR (ARER) $ | RACSTI — — — — — — — — —
RAC873 — — — — —— — — — —
RAC875 — — — — —— — — — —
NU211 — — — — — — — — —
RAC879 — — — — —— — — — —
RAC881 — — — — —— — — — —
RAC883 — — — — —— — — — —
AKREHR RAC872 — — — — —— — — — —
RAC874 — — — — —— — — — —
RAC876 — — — — —— — — — —
NU212 — — — — — — — — —
RAC880 — — — — —— — — — —
RAC882 — — — — —— — — — —
RAC884 — — — — —— — — — —
SR (B =5 SRR (ARER) % | RACSII — -— — — — — — — —
RAC813 — — — — —— — — — —
RAGC817 — — — — —— — — — —
RAGC815 — — — — —— — — — —
RAC819 — — — — —— — — — —
E&% RAC812 — — — — — — — — —
RAC814 — — — — —— — — — —
RAC818 — — — — —— — — — —
RAC816 — — — — —— — — — —
RAC820 — — — — —— — — — —
SRR (RER) =EEKS SR (ARER) % | RAC853 — -— — — — — — — —
BERER RAC854 — — — — —— — — — —
SR (B =5HE SRR (FRE) % | RACT21 — -— — — — — — — —
SMER RAC724 — — — — — — — —— —
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EBEEAA 2015/11/20  ~
3/1-10 3/11-17
) @5 | i e | g EEM E—o8 o . o
7 5% FEIFE " EELES "
K (BTE) =48 (FRE) ABR (&) % [ NU00T | 21HEI | 20,100 | 48% 51% |4 +:22,300, H:19,900 20,100 51% % 1:22,300, H:19,900
NUO005 | 21HAT | 17,500 | 54% 57% 17,500 57% | H:17,600
NU009 | 21HBI | 17,500 | 54% 57% 17,500 57% |%:21,300, £:19,300, H:17,600
ShAB (IR X [ NU002 [ 21HET | 17500 [ 54% 57% + H:18,700 17,500 57% &+ H:18,700
NU004 | 21HBI | 18,800 [ 51% 54% 9,600, 1:18,900, H:21,800 18,800 54% 9,600, 1:18,900, H:21,800
NU008 | 21HAT | 20,100 | 48% 51% :19,900, H:23,300 20,100 51% B
13 = 48 (BT FEEES NUO51 | 21H#T | 18,600 | 40% 44% 9,400, H:17,900 18,600 44%
NUO053 | 21HAT | 18,600 | 40% 44% H:17,900 18,600 44%
NUO057 | 21H&T | 17,900 | 42% 46% 17,900 46%
NUO061 | 21HAT | 14800 | 52% 55% 14,800 55%
NU063 | 21HBI | 16,400 | 47% 51% 16,400 51%
NUO065 | 21HAT | 17.000 | 45% 49% 17,000 49%
SP#B(ARER) S [ NUOSO | 21H@I | 17.200 | 44% 48% 17,200 48% 7,100, H:15,800
NUO052 | 21H@T | 17.200 | 44% 48% 17,200 48% ,300
NUO054 | 21H&T | 17,000 | 45% 49% \ :15, 17,000 49% ,100, H:15,800
NUO058 | 21HAT | 14800 | 52% 55% :17,100, H:15,800 14,800 55% 17,100, H:15,800
NUO060 | 21H&T | 18,100 | 41% 45% 119,400, F:17,400 18,100 45%
NUO062 | 21HAT | 18,100 | 41% 45% | %:19,100, £:17.400, H:19,400 18,100 45%
RERCHR)=R1E RRCHE)H¥ [ NU071 | 21HEI | 29.900 | 55% 57% % 1:31,700 29,900 57%
NUO73 | 21HAT [ 27,900 | 58% 60% % +:29,700 27,900 60%
RIEHX NUO070 | 21H&T | 25400 | 62% 63% | H:28,600 25,400 63% ]
NUO76 | 21HAT | 27,900 | 58% 60%  H:31,100 27,900 60% | H:31,100
RRCHE) =25 RECHE)F | NU021 | 21HBT | 27.400 | 56% 58% | % 1:29,500 27,400 58% | % 1:29,500
o NU022 | 21HH7 | 27.000 | 57% 58% | H:28,900 27,000 58% | H:28,900
KR (B#E) =18 ABR (BHPE) % | NU0B3 | 21HBT | 24.900 | 54% 56% | % 1:28,100 24,900 56% % 1:28,100
RIEX NUO086 | 21HAT | 24900 | 54% 56% 8,100 24,900 56%
INR =18 (FRER) INAFE NU037 | 21H&1 | 26,300 | 43% 45% H:29,500 26,300 45%
ShEE(IRER)E | NU036 [ 21HAT | 26,300 | 43% 45% H:29,500 26,300 45% :29,
AEE(FE) =4 @H) | EETEPED R [ NU043 | 21HET | 24,600 | 43% 46% :28,000, H:24,100 24,600 46% :28,000, H:24,100
NUO045 | 21HAT | 24600 | 43% 46% :28,000, H:24,100 24,600 46% 28,000, H:24,100
NU047 | 21H&T | 20,000 | 54% 56% 20,000 56%
NUO049 | 21HAT | 20000 | 54% 56% 20,000 56%
P8 (FRE) F | NU042 | 21HBI | 20,000 | 54% 56% 20,000 56%
NUO44 | 21HAT | 24,600 | 43% 46% 3 +:22,500, H:28,000 24,600 46% H:28,000
NU046 | 21HBI_| 24,100 | 44% 47% |%:25,100, £:22,500, H:26,700 24,100 47% B:26,700
NU048 HAl | 24100 44% 47% 425,100, £:22,500, H:26,700 24,100 47% B:26,700
L =& (8 EES NUOT1 B | 22,000 | 43% 46% % 1:25200 22,000 46%
;hiB (FRFE) F | NU016 B | 22000 ] 43% 46% | H:25.200 22,000 46%




JTA/RAC

EEEAH 2015/11/20  ~
. 3/22-26 3/18 | 3/19 | 3/20 | 3/21
FH .
2 BE | mamm | e 500 % R | B | @R | TR
KB (BEFE) = hiE (AR %) KPr (B87FE)F | NUooi | 21HAT | 24,100 41% | £+:26,300 27,400 | —— [ 25,300 | 25,300
NU005 [ 21H&T | 21,500 47% 27,100 | 25,800 | 25,800 | 25,800
NU009 | 21HRI [ 21,500 47% |£:25300, +:23,300 | 27,400 [ 25,200 | 26,300 | 26,300
B (R F | NU002 | 21HAT | 21,500 47% | £+:22700 23,700 | 24,100 [ 24,100 | 24,100
NU004 [ 21HAT | 22,800 44%  [£:23,600, £:22,900 | 23,700 [ 25,100 [ 25,800 | 27,800
NU008 [ 21HAT | 24,100 41% £ 25,100 | 27,100 [ 27,800 | —
&R = 048 (A FH) FERES NUO051 | 21HBAI [ 19,100 42% 19,900 | —— | 19,400 [ 19,400
NU053 [ 21HAT | 19,100 42% 19,900 [ — [ 19,400 [ 19,400
NU057 [ 21HAT | 18,400 45% 19,900 | 24,600 | 18,800 [ 19,400
NUO061 [ 21HAT | 15,300 54% 18,400 | 16,300 | 17,800 [ —
NU063 [ 21HAT | 16,900 49% 18,400 | 16,300 | 18400 [ —
NU065 [ 21H&T | 17,500 47% 18,400 | 16,500 | 17,500 [ 17,500
B (FRE)F | NU050 | 21HAT | 17,700 47% 17600 | —— | 16,800 [ 17,700
NU052 [ 21HAT | 17,700 47% 18,800 | 20,200 | 18,300 [ 18,300
NU054 [ 21HAT | 17,500 47% 19,600 | 18,600 | 20,900 [ 23,800
NU058 [ 21HAT | 15,300 54% 19,900 | 18,600 | 20,900 [ 23,800
NU060 [ 21HAT | 18,600 44% & 19,900 | 19,900 | 22,000 [ 24,700
NU062 [ 21HAT | 18,600 44%  [£:19,600, £:17,900 | 19,900 [ 18,900 [ 22,000 | 24,700
RECHHA)=F1E WRCHAE)F | NUo71 | 21HAT | 31,900 54% % 1£:33,700 36,000 | —— [ 32,900 | 32,900
NU073 [ 21HAT | 29,900 57% |4 £:31,700 34000 | —— [ 30,900 [ 30,900
AiEH NU070 [ 21HAT | 27,400 60% 30,400 | 28,400 | 31,500 | 34,000
NU076 | 21HAT | 29,900 57% 32,900 | 30,900 [ 34000 | —
RRE(CHHE) =% R CHE)F | NUo21 | 21HAT | 29,500 54% % 1£:31,600 31,600 | —— [ 33,200 | 33,200
EoOH NU022 | 21HBEIT [ 29,100 55% 29,100 | 32,800 [ 34700 | —-
ABx (BdE) =FH1iE KB (B87E) % [ NU0s3 | 21HBAI | 27,600 51% |4 1£:30,800 30,800 | —— [ 28,600 | 28,600
aiEH NU086 | 21HRI_| 27,600 51% 28,600 | 28,600 [ 31,700 | —-
INR =8 (R ER) VR FE NU037 | 21HAI [ 28500 41% £ +:31,600 31,600 | 32,100 [ 32,100 | 32,100
hEE(BRE) % [ NUo3e | 21HRT | 28,500 41% £ +:31,600 31,600 | 32,100 [ 32,100 | —-
ZEHE(hE) =4R@H) | ELHE(PE)FK [NU043 [ 21HFT | 27,200 41% £ +:30,600 33,500 | —— [ 30,600 | 30,600
NU045 | 21HBI [ 27,200 41% £ £:30,600 33,500 | —— [ 30,600 | 30,600
NU047 | 21HBI [ 22,100 52%  |%:25,600 28,200 | 27,000 | 26,400 | 26,400
NU049 | 21HBEI [ 22,100 52%  |%:25,600 28,200 | 27,000 | 26,400 | 26,400
B ERE) F | NUo42 | 21HAT | 22,100 52% 27,400 | 27,000 | 26,200 | 26,200
NU044 | 21HBI [ 27,200 41%  |£:27,700, £:25100 | 32,500 | 31,200 | 33,100 | —-
NU046 | 21HBI [ 26,700 42% |£:27,700, £:25,100 | 32,500 [ 31,200 [ 33,300 | 34,500
NU048 | 21HBI [ 26,700 42% |£:27,700, £:25,100 | 32,500 [ 31,200 [ 33,300 | 34,500
gl L =& (AR ER) B3 NUO11 | 21HAI [ 25,200 38% % 1:28,300 28,300 | —— [ 25,700 | 25,700
SR (AREE) % [ NUO16 | 21H@H | 25200 |  38% 25200 | 25700 | 28,800 | -—
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e el 2 e ©F R R p— ¢ T R —— 1. R
AgE T omEix P magig T @siE | R mame TN mEE | P
KR (P =5 KB (fRFH) 5 | _JIN2321 B E 9,200 34% BIE 8,600 39% BIH 8,100 42%
JN2323 B E 9,200 34% =] 8,600 39% B E 8,100 42%
BES JN2322 B E 9,200 34% =] 8,600 39% B E 8,100 42%
JN2324 fEil=] 9,200 34% =] 8,600 39% B E 8,100 42%
KR (RFH) =HE KB (FFH % [ JIN2341 | 3HBET 15,400 32% RIEED] 14,900 35% RIEE:] 14,400 37%
JN2355 | 3HE] 15,400 32% 3E AT 14,900 35% 3E AT 14,400 37%
UN2357 | 3HBI 15,400 32% 3EAT 14,900 35% 3E AT 14,400 37%
HER UN2342 | 3Bl 15,400 32% 3EAT 14,900 35% 3E AT 14,400 37%
UN2346 | 3HBI 15,400 32% RIEE:D] 14,900 35% 3E AT 14,400 37%
JN2356 | 3HET 16,900 26% 3EBI 16,400 28% 3E AT 15,900 30%
1B == 5 1RE R JN3621 BIEH 15,200 38% BIE 14,200 42% BIH 13,200 46%
JN3625 =] 15,200 38% 1] 14,200 42% B E 13,200 46%
JN3631 =] 15,200 38% fl=] 14,200 42% B E 13,200 46%
JN3635 =] 15,200 38% fil=] 14,200 42% B E 13,200 46%
JN3639 BIE 15,200 38% BB 14,200 42% B E 13,200 46%
S JUN3622 BIH 15,200 38% BIE 14,200 42% BIH 13,200 46%
JUN3626 =] 15,200 38% fl=] 14,200 42% B E 13,200 46%
JN3632 =] 15,200 38% [il=] 14,200 42% BIE 13,200 46%
JN3638 BB 15,200 38% [il=] 14,200 42% B E 13,200 46%
JUN3642 BIE 15,200 38% fil=] 14,200 42% B E 13,200 46%
BE=ERS 1R JN3651 BIH 11,300 52% BIE 10,800 54% BIH 10,300 56%
JN3653 BIE 11,300 52% BB 10,800 54% B E 10,300 56%
BREH JN3652 BIH 11,300 52% BIR 10,800 54% RIE 10,300 56%
JN3658 BIE 11,300 52% B E 10,800 54% B EH 10,300 56%
BRE=ETE EREH JN3761 RIE 8,200 42% B R 7,700 46% Eil=] 7,200 49%
JN3763 BIE 10,800 24% fil=] 10,300 27% B E 9,800 31%
JN3775 BIEH 10,800 24% [il=] 10,300 27% BIE 9,800 31%
BrER JN3760 B EH 10,800 24% fil=] 10,300 27% B E 9,800 31%
JN3762 B H 10,800 24% fil=] 10,300 27% BIEH 9,800 31%
JN3774 B E 10,800 24% B E 10,300 27% B EH 9,800 31%
BERE=EAE BEREE JN3743 BIH 12,300 21% BIE 11,800 24% BIH 11,300 28%
ERE=BXXE BREHE JN3721 BIH 19,000 33% BIE 18,700 34% 3HBAT 15,900 44%
JN3723 BIH 19,000 33% B E 18,700 34% 3HEI 15,900 44%
JN3725 BIH 19,500 31% 1] 19,000 33% 3E Al 16,400 42%
JN3727 BIEH 19,500 31% B E 19,000 33% 3EE 16,400 42%
JN3729 BIEH 19,000 33% [zl 18,700 34% 3HEI 15,900 44%
JN3735 BIE 19,000 33% 1] 18,500 35% 3HEI 15,900 44%
JN3737 BIE 19,000 33% BE 18,500 35% 3HEI 15,900 44%
BEKEH | JIN3722 BIH 19,000 33% B H 18,500 35% 3EE 15,400 46%
JN3724 BIH 19,000 33% B H 18,500 35% 3EE 15,400 46%
JN3728 BIE 19,000 33% [zl 18,500 35% 3HEI 15,400 46%
JN3730 BIE 19,000 33% 1] 18,500 35% 3HEI 15,900 44%
JN3732 BIE 19,000 33% BE 18,500 35% 3HEI 15,900 44%
JN3734 BIE 19,000 33% B E 18,500 35% 3HEI 15,400 46%
JN3738 Eil=] 19,000 33% =] 18,500 35% 3EAT 15,400 46%
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KR (P =5 KB (fRFH) 5 | _JIN2321 B E 9,200 34% BIE 8,600 39% BIH 8,100 42%
JN2323 B E 9,200 34% =] 8,600 39% GIl=] 8,100 42%
BES JN2322 B E 9,200 34% GIl=] 8,600 39% GIl=] 8,100 42%
JN2324 1=l 9,200 34% Gil=] 8,600 39% Gil=] 8,100 42%
KR (RFH) =HE KB (FFH % [ JIN2341 | 3HBET 15,400 32% RIEED] 14,900 35% RIEE:] 14,400 37%
JN2355 | 3HE] 15,400 32% K=K 14,900 35% RIEE:D] 14,400 37%
UN2357 | 3HBI 15,400 32% 3EBI 14,900 35% 3E&T 14,400 37%
HER UN2342 | 3Bl 15,400 32% 3E AT 14,900 35% RIEE:D] 14,400 37%
UN2346 | 3HBI 15,400 32% K=K 14,900 35% RIEE:D] 14,400 37%
JN2356 | 3HET 16,900 26% 3E AT 16,400 28% 3E Al 15,900 30%
1B == 5 FHES JN3621 BB 15,700 36% B E 14,700 40% B E 13,700 44%
JN3625 =] 15,700 36% Gl 14,700 40% Bl E 13,700 44%
JN3631 =] 15,700 36% BIE 14,700 40% B E 13,700 44%
JN3635 =] 15,700 36% BIE 14,700 40% Bl E 13,700 44%
JN3639 BIE 15,700 36% Gl 14,700 40% Bl E 13,700 44%
S JUN3622 BIE 15,700 36% Bl E 14,700 40% BIE 13,700 44%
JUN3626 =] 15,700 36% B E 14,700 40% Bl E 13,700 44%
JN3632 =] 15,700 36% B E 14,700 40% i E 13,700 44%
JN3638 fEil=] 15,700 36% BIE 14,700 40% BIE 13,700 44%
JN3642 BIE 15,700 36% BIE 14,700 40% Bl E 13,700 44%
BE=ERS 1R JN3651 BIH 11,300 52% B E 10,800 54% BIE 10,300 56%
JN3653 BIE 11,300 52% BIE 10,800 54% i E 10,300 56%
BREH JN3652 RIE 11,300 52% Bl H 10,800 54% izl 10,300 56%
JN3658 BIE 11,300 52% BIE 10,800 54% B E 10,300 56%
ERE=1EFE BEREH JN3761 BIH 8,200 42% BIE 7,700 46% FiA 7,200 49%
JN3763 BIE 10,800 24% Gl 10,300 27% Cil=] 9,800 31%
JN3775 BIEH 10,800 24% Gl 10,300 27% GII=] 9,800 31%
BTER JN3760 RIE 10,800 24% Gzl 10,300 27% GIl=] 9,800 31%
JN3762 B H 10,800 24% Gl 10,300 27% Bl H 9,800 31%
JN3774 B E 10,800 24% BIE 10,300 27% B E 9,800 31%
BERE=EAE BRESHE JN3743 Eil=] 12,300 21% Ol=] 11,800 24% =] 11,300 28%
ERE=BXXE BEREH JN3721 BIH 20,000 29% B E 19,700 30% 3HBAT 16,900 40%
JN3723 BIH 20,000 29% BIE 19,700 30% 3B 16,900 40%
JN3725 BIH 20,500 28% BIE 20,000 29% 3B 17,400 39%
JN3727 BIEH 20,500 28% Gil=] 20,000 29% 3B &I 17,400 39%
JN3729 BIEH 20,000 29% B H 19,700 30% 3HEEI 16,900 40%
JN3735 BIEH 20,500 28% B H 20,000 29% 3B 17,400 39%
JN3737 BIEH 20,000 29% Gl 19,700 30% 3B 16,900 40%
BEKEH | JIN3722 BIH 20,000 29% Gil=] 19,700 30% 3B 16,900 40%
JN3724 BIH 20,000 29% B H 19,700 30% 3B &I 16,900 40%
JN3728 BIEH 20,000 29% Gl 19,700 30% 3HEI 16,900 40%
JN3730 BIH 20,500 28% BT H 20,000 29% 3HEI 17,400 39%
JN3732 BIH 20,500 28% Gil=] 20,000 29% 3B 17,400 39%
JN3734 BIH 20,000 29% B H 19,700 30% 3B 16,900 40%
JN3738 Eil=] 20,000 29% Gil=] 19,700 30% 3EEI 16,900 40%
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AR (B =85F KB (RFH) % [ UN2321 B B E B E 9,200 8,600 8,100 9,200 8,600 8,100 9,200 8,600 8,100
JN2323 | BiIEH BIE B E 9,200 8,600 8,100 9,200 8,600 8,100 9,200 8,600 8,100
BE% JN2322 | @A =] B E 9,200 8,600 8,100 9,200 8,600 8,100 9,200 8,600 8,100
JN2324 | BiIEH B E B E 9,200 8,600 8,100 9,200 8,600 8,100 9,200 8,600 8,100
AR (B =HE KB (A | UN2341 | 38ET | 3HAT | 3HBEI 15,400 14,900 14,400 15,400 14,900 14,400 15,400 14,900 14,400
JN2355 | 3HAT | 3HAI | 3HAL 15,400 14,900 14,400 15,400 14,900 14,400 15,400 14,900 14,400
JN2357 | 3HET | 3HBEI | 3BE 15,400 14,900 14,400 15,400 14,900 14,400 15,400 14,900 14,400
HEX JN2342 | 3HAT | 3HRAI | 3HAL 15,400 14,900 14,400 15,400 14,900 14,400 15,400 14,900 14,400
JN2346 | 3HAET | 3HAI | 3HAE 15,400 14,900 14,400 15,400 14,900 14,400 15,400 14,900 14,400
JN2356 | 3HET | 3HAI | 3HAL 16,900 16,400 15,900 16,900 16,400 15,900 16,900 16,400 15,900
EE =25 FEEES JN3621 B E B E B E 15,700 14,700 13,700 15,700 14,700 13,700 15,700 14,700 13,700
JN3625 | RiIH B E B E 15,700 14,700 13,700 15,700 14,700 13,700 15,700 14,700 13,700
JN3631 B R B E B E 15,700 14,700 13,700 15,700 14,700 13,700 15,700 14,700 13,700
JN3635 | RiIH B E B E 15,700 14,700 13,700 15,700 14,700 13,700 15,700 14,700 13,700
JN3639 | BiIE =] B E 15,700 14,700 13,700 15,700 14,700 13,700 15,700 14,700 13,700
EEES UN3622 | @iH B E B E 15,700 14,700 13,700 15,700 14,700 13,700 15,700 14,700 13,700
JN3626 | RiIE B R B E 15,700 14,700 13,700 15,700 14,700 13,700 15,700 14,700 13,700
JN3632 | B B E B E 15,700 14,700 13,700 15,700 14,700 13,700 15,700 14,700 13,700
JN3638 | RiIE B R B E 15,700 14,700 13,700 15,700 14,700 13,700 15,700 14,700 13,700
JN3642 | BIE B E B E 15,700 14,700 13,700 15,700 14,700 13,700 15,700 14,700 13,700
EE=FERS FEEES JN3651 EilE] EilE] EilE] 11,800 11,300 10,800 11,800 11,300 10,800 11,800 11,300 10,800
JN3653 | BiIEH B E B E 11,800 11,300 10,800 11,800 11,300 10,800 11,800 11,300 10,800
EREH JN3652 | #iH B E B E 11,800 11,300 10,800 11,800 11,300 10,800 11,800 11,300 10,800
JN3658 | RiIEH B E B E 11,800 11,300 10,800 11,800 11,300 10,800 11,800 11,300 10,800
BERE=HBTS BREF JN3761 BIE BIE BB 8,200 7,700 7,200 8,200 7,700 7,200 8,200 7,700 7,200
JN3763 | BiIH B E BIE 10,800 10,300 9,800 10,800 10,300 9,800 10,800 10,300 9,800
JN3775 | #iA B E B E 10,800 10,300 9,800 10,800 10,300 9,800 10,800 10,300 9,800
EFRER JN3760 EilE] EilE] EilE] 10,800 10,300 9,800 10,800 10,300 9,800 10,800 10,300 9,800
JN3762 | #iH B E B E 10,800 10,300 9,800 10,800 10,300 9,800 10,800 10,300 9,800
JN3774 | BiIE BIE B E 10,800 10,300 9,800 10,800 10,300 9,800 10,800 10,300 9,800
ERE=EAS BREH JN3743 EilE] EilE] EilE] 12,300 11,800 11,300 12,300 11,800 11,300 12,300 11,800 11,300
ERE=8XXE BREHR JN3721 EilE] EilE] 3HHI 20,000 19,700 16,900 20,000 19,700 16,900 20,000 19,700 16,900
JN3723 | @iH B R 3EAT 20,000 19,700 16,900 20,000 19,700 16,900 20,000 19,700 16,900
UN3725 | @iHE B E 3EAT 20,500 20,000 17,400 20,500 20,000 17,400 20,500 20,000 17,400
JN3727 | EiIE BIE 3HEI 20,500 20,000 17,400 20,500 20,000 17,400 20,500 20,000 17,400
UN3729 | @iHE B E 3EAT 20,000 19,700 16,900 20,000 19,700 16,900 20,000 19,700 16,900
JN3735 | @iH BIE 3HEI 20,500 20,000 17,400 20,500 20,000 17,400 20,500 20,000 17,400
UN3737 | @iR BIE 3EAT 20,000 19,700 16,900 20,000 19,700 16,900 20,000 19,700 16,900
BEKEH [ UN3722 | BEIE BIE 3HEI 20,000 19,700 16,900 20,000 19,700 16,900 20,000 19,700 16,900
UN3724 | @iH BIE 3EAT 20,000 19,700 16,900 20,000 19,700 16,900 20,000 19,700 16,900
JN3728 | EIH BIE 3HEI 20,000 19,700 16,900 20,000 19,700 16,900 20,000 19,700 16,900
UN3730 | @iRE BIE 3EAT 20,500 20,000 17,400 20,500 20,000 17,400 20,500 20,000 17,400
JN3732 | EIH BIE 3HEI 20,500 20,000 17,400 20,500 20,000 17,400 20,500 20,000 17,400
UN3734 | @iHE B E 3EAT 20,000 19,700 16,900 20,000 19,700 16,900 20,000 19,700 16,900
JN3738 | FIH BIE 3ERT 20,000 19,700 16,900 20,000 19,700 16,900 20,000 19,700 16,900
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1R == EEEES JN3621 | 21HBET 8,000 64% 67% 8,000 67%
UN3625 | 21HBI 8,000 64% 67% 8,000 67%
JN3631_| 21H8I 8,000 64% 67% 8,000 67%
UN3635 | 21 HBI 8,000 64% 67% 8,000 67%
UN3639 | 21HBI 8,000 64% 67% 8,000 67%
BB JN3622 | 21HBET 8,000 64% 67% 8,000 67%
UN3626 | 21 HBI 8,000 64% 67% 8,000 67%
JN3632 | 21HBI 8,000 64% 67% 8,000 67%
UN3638 | 21 HBI 8,000 64% 67% 8,000 67%
JN3642 | 21HBI 8,000 64% 67% 8,000 67%
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BE=2& BRI JIN3621 | 21B@1 8,000 67% 8,000 8,000 8,000 8,000
UN3625 | 21HBI 8,000 67% 8,000 8,000 8,000 8,000

JN3631_| 21BAL 8,000 67% 8,000 8,000 8,000 8,000

JN3635 | 21HAT 8,000 67% 8,000 8,000 8,000 8,000

JN3639 | 21HAT 8,000 67% 8,000 8,000 8,000 8,000

S JN3622 | 21HAL 8,000 67% 8,000 8,000 8,000 8,000

UN3626 | 21 HBI 8,000 67% 8,000 8,000 8,000 8,000

JN3632_| 21HAL 8,000 67% 8,000 8,000 8,000 8,000

JN3638 | 21HAT 8,000 67% 8,000 8,000 8,000 8,000

JN3642 | 21 HET 8,000 67% 8,000 8,000 8,000 8,000




